Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
,								
Bid Opening: 08/28/2023 0	2:00 PM CDT							
g ,	1							
					PTS Contrac	ctors. Inc	Mashuda C	ontractors
					4075 Eator	,	THOMAN C	
					Green Bay, V			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid	nem coue	ricin Description	201111	Quality	Child Trice	\$10,078,256.00	Cint Frice	\$10,200,199.98
occion i. base biu		Mobilization; complete as				\$10,070,230.00		ψ10,200,177.70
	1050	specified	Lump Sum	1.00	\$130,000.00	\$130,000.00	\$189,974.00	\$189,974.00
	1030	Removing pavement;	Europ Sum	1.00	\$130,000.00	φ130,000.00	ψ10 <i>7,71</i> 4.00	\$107,774.00
	1100	complete as specified	Square Yards	8,420.00	\$0.50	\$4,210.00	\$0.50	\$4,210.00
	1100	Removing curb and	Square rares	0,420.00	\$0.50	ψτ,210.00	φ0.50	ψ4,210.00
		gutter; complete as						
	1110	specified	Linear Feet	200.00	\$2.00	\$400.00	\$2.00	\$400.00
	1110	Removing concrete and	Ellical Teet	200.00	\$2.00	φ400.00	Ψ2.00	φ 1 00.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	4,840.00	\$0.40	\$1,936.00	\$0.40	\$1,936.00
	1120	Unclassified excavation;	oquare reet	1,010.00	Ψ0.10	\$1 /500.00	φ0.10	\$1,500.00
	1200	complete as specified	Cubic Yards	9,620.00	\$7.40	\$71,188.00	\$7.24	\$69,648.80
		Ground stabilization		-,-=	41133	4/	4.1=-	400/0-0000
		fabric; complete as						
	1230	specified	Square Yards	6,060.00	\$1.30	\$7,878.00	\$1.25	\$7,575.00
		Adjust manholes and	-1	,,,,,,,,,	,	, ,,,	1	, , , , , , , , , , , , , , , , , , , ,
		inlets; complete as						
	1360	specified	Each	34.00	\$1.00	\$34.00	\$649.50	\$22,083.00
		Restore gravel			·	·	·	
		driveway/apron;						
	1372	complete as specified	Square Yards	110.00	\$12.30	\$1,353.00	\$12.00	\$1,320.00
		30" curb and gutter; 8";	1		•	. ,	·	
	1444	complete as specified	Linear Feet	100.00	\$97.00	\$9,700.00	\$95.00	\$9,500.00
		36" mountable curb and				·		·
		gutter; 8"; complete as						
	1451	specified	Linear Feet	100.00	\$108.00	\$10,800.00	\$105.00	\$10,500.00
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	16.00	\$41.00	\$656.00	\$40.00	\$640.00
		Replace section corner;						
	1651	complete as specified	Each	1.00	\$665.00	\$665.00	\$650.00	\$650.00
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	7.00	\$87.00	\$609.00	\$85.00	\$595.00
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	400.00	\$2.00	\$800.00	\$2.35	\$940.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
·	<u> </u>							
3id Opening: 08/28/2023 0	2:00 PM CDT							
514 opening. 00/20/2020 0	100 1101 0.0 1							
					PTS Contr	eactors Inc	Mashuda C	ontractors
					4075 Eat		Masiluda	ontractors
				-		, WI 54311		
Section Title	Itam Cada	It and Description	II-OA	0			Unit Price	Total and an
Section 11tie	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Base aggregate dense;						
		3/4"; complete as	_					
	1800	specified	Tons	710.00	\$22.20	\$15,762.00	\$21.68	\$15,392.8
		Base aggregate dense; 1-						
		1/4"; complete as						
	1801	specified	Tons	8,600.00	\$17.80	\$153,080.00	\$17.44	\$149,984.0
		Base aggregate dense; 3";						
	1802	complete as specified	Tons	4,260.00	\$17.15	\$73,059.00	\$16.77	\$71,440.2
		Tack coat; complete as						
	1900	specified	Gallons	250.00	\$6.80	\$1,700.00	\$2.80	\$700.0
		HMA Pavement LT;						
	1901	complete as specified	Tons	280.00	\$108.00	\$30,240.00	\$156.00	\$43,680.0
		HMA Pavement MT;						
	1902	complete as specified	Tons	2,670.00	\$77.00	\$205,590.00	\$75.30	\$201,051.0
		Asphalt flume; complete						
	1935	as specified	Square Yards	30.00	\$32.00	\$960.00	\$58.00	\$1,740.0
		Prepare foundation for						
		asphaltic paving;						
	1960	complete as specified	Lump Sum	1.00	\$20,000.00	\$20,000.00	\$18,960.00	\$18,960.0
		Pavement markings;	-					
		epoxy; 4" (white);						
	1974	complete as specified	Linear Feet	6,000.00	\$0.80	\$4,800.00	\$0.75	\$4,500.0
		Pavement markings;				-		·
		epoxy; 4" (yellow);						
	1975	complete as specified	Linear Feet	2,500.00	\$0.80	\$2,000.00	\$0.75	\$1,875.0
		Pavement markings; stop-		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	*****	, , , , , , , , , , , , , , , , , , , ,	,	, , ,
		line epoxy; 18" (white);						
	1978	complete as specified	Linear Feet	17.00	\$15.00	\$255.00	\$14.00	\$238.0
	137.0	Furnish and install woven		27.50	Ψ25.00	\$255.00	\$11.00°	Ψ200.0
		wire fencing; complete as						
	1990	specified	Linear Feet	6,840.00	\$5.40	\$36,936.00	\$5.25	\$35,910.0
	1770	Furnish and install high	Efficial Feet	0,010.00	ψ0.10	ψ50,750.00	φσ.20	φου, στο. οι
		tensile fencing; complete						
	1991	as specified	Linear Feet	75.00	\$6.20	\$465.00	\$6.00	\$450.0
	1991	Furnish and install	Lincal Feet	75.00	φ0.20	φ±05.00	φυ.υυ	ψ450.0
		double leaf gate;						
	1992	J	Fools	2.00	¢2.6EF.00	¢E 210.00	#3 (00 00	¢E 200 0
	1992	complete as specified Furnish and install 12"	Each	2.00	\$2,655.00	\$5,310.00	\$2,600.00	\$5,200.0
		RCP Class III storm						
	2001	sewer; complete as		2.00	*400 **	*****	APC 00	***
	2004	specified	Linear Feet	34.00	\$102.00	\$3,468.00	\$70.00	\$2,380.0

Contract 23-16 - Sawyer Cro	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
<u> </u>	<u> </u>							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
					PTS Contrac	ctors. Inc	Mashuda C	ontractors
					4075 Eator			
					Green Bay, V			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Jethon Title	Trem coue	Furnish and install 24"		Quantity	CARRY TARCE	ZACIOTOT	CHAIL THEE	2Attitio1011
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	122.00	\$123.00	\$15,006.00	\$102.00	\$12,444.00
	2010	Furnish and install 30"	Efficial Feet	122.00	Ψ120.00	ψ15,000.00	ψ102.00	Ψ12,111.00
		RCP Class III storm						
		sewer; complete as						
	2022	specified	Linear Feet	29.00	\$154.00	\$4,466.00	\$122.00	\$3,538.00
	2022	Furnish and install 36"	Efficial Feet	25.00	Ψ101.00	ψ1,100.00	Ψ122.00	φο,οσοίσε
		RCP Class III storm						
		sewer; complete as						
	2025	specified	Linear Feet	358.00	\$137.00	\$49,046.00	\$157.00	\$56,206.00
	2020	Furnish and install 48"	Efficial Feet	556.00	Ψ107.00	ψ15,010.00	Ψ137.00	φ50,200.00
		RCP Class III storm						
		sewer; complete as						
	2031	specified	Linear Feet	1,026.00	\$207.00	\$212,382.00	\$212.00	\$217,512.00
		Furnish and install 14" x		2,020100	Q=01100	4/	4=1=111	4===,7=====
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	304.00	\$100.00	\$30,400.00	\$106.00	\$32,224.00
		Furnish and install 19" x			Ų-101100	400/20000	420000	44-7
		30" HERCP Class III						
		storm sewer; complete as						
	2047	specified	Linear Feet	344.00	\$113.00	\$38,872.00	\$124.00	\$42,656.00
		Furnish and install 4' x 6'			Ų-10100	400/01 =100	4	+
		box culvert storm sewer;						
	2072	complete as specified	Linear Feet	1,449.00	\$745.00	\$1,079,505.00	\$807.50	\$1,170,067.50
		Furnish and install 4'		2,227100	Ų. 2010 U	4-/01-7/00000	400.100	4-, 0,000 100
		diameter manhole riser						
		on 4' x 6' box culvert;						
	2113	complete as specified	Vertical Feet	13.00	\$920.00	\$11,960.00	\$1,931.00	\$25,103.00
		Furnish and install 24"			Ų	422): 00100	4-7	4-0/
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	2.00	\$2,230.00	\$4,460.00	\$2,402.00	\$4,804.00
		Furnish and install 36"	-		, ,	, ,	, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		RCP Class III apron						
		endwall with joint ties;						
	2147	complete as specified	Each	2.00	\$3,625.00	\$7,250.00	\$3,883.00	\$7,766.00

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 08/28/2023 02	:00 PM CDT							
1 0								
					PTS Contrac	ctors. Inc	Mashuda Con	tractors
					4075 Eator			
					Green Bay, V			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem coue	Furnish and install 48"	COIN	Quantity	ChitThee	Extension	Out Trice	Extension
		RCP Class III apron						
		endwall with joint ties;						
	2149	-	Eash	5.00	\$3,035.00	\$15,175.00	\$5,461.00	\$27,305.0
	2149	complete as specified Furnish and install 14" x	Each	5.00	\$3,035.00	\$15,175.00	\$3,461.00	\$27,303.0
		23" RCP Class III apron						
		-						
	2454	endwall with joint ties;		20.00	*****	#40 (00 00	#4 494 00	420.400.0
	2154	complete as specified Furnish and install 19" x	Each	20.00	\$930.00	\$18,600.00	\$1,424.00	\$28,480.0
		30" RCP Class III apron						
		endwall with joint ties;						
	2155	complete as specified	Each	20.00	\$1,040.00	\$20,800.00	\$1,586.00	\$31,720.0
		Furnish and install 4' x 6'						
		box culvert end section						
		with joint ties; complete						
	2171	as specified	Each	1.00	\$9,110.00	\$9,110.00	\$8,663.00	\$8,663.00
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	11.00	\$945.00	\$10,395.00	\$1,930.00	\$21,230.0
		Furnish and install						
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	9.00	\$1,800.00	\$16,200.00	\$2,747.00	\$24,723.0
		Furnish and install						
		standard storm sewer						
		manhole (8' x 8' box);						
	2211	complete as specified	Vertical Feet	10.00	\$2,510.00	\$25,100.00	\$2,407.00	\$24,070.00
		Furnish and install			·		· ·	·
		standard storm sewer						
		inlet manhole (6'						
		diameter); complete as						
	2215	specified	Vertical Feet	13.00	\$1,210.00	\$15,730.00	\$1,331.00	\$17,303.00
		Furnish and install storm		10.00	Ψ1/210.00	¥25,7 55.50	41,001.00	<i>\$1.700.</i> 00
		sewer outlet structure;						
		Rural II Basin; complete						
	2226	as specified	Each	1.00	\$160,000.00	\$160,000.00	\$156,318.00	\$156,318.00
	2220	Furnish and install Type 1	Lucii	1.00	φ100,000.00	ψ100,000.00	ψ150,510.00	ψ100,010.00
		inlet; complete as						
	2236	specified	Each	1.00	\$4,055.00	\$4,055.00	\$2,498.00	\$2,498.00

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
, , , , , , , , , , , , , , , , , , , ,	, -							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
514 opening, 00,20,2020 02	1001101021							
					PTS Contr	actors Inc	Mashuda C	ontractors
					4075 Eat	·	Mashada	ontractors
					Green Bay			
C C TT'd	71 6 1	T. D	TI (3.6	0 111			V. '. D.'	T
Section Title	Item Code	Item Description Furnish and install	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		WDOT Inlet Median 1						
		grate; complete as						
	2240	specified	Each	2.00	\$3,910.00	\$7,820.00	\$4,502.00	\$9,004.00
		Furnish and install						
		WDOT Inlet Median 2						
		grate; complete as						
	2241	specified	Each	3.00	\$5,950.00	\$17,850.00	\$4,963.00	\$14,889.00
		Furnish; install; maintain;						
		and remove Type A inlet						
		protection; complete as						
	2500	specified	Each	7.00	\$138.00	\$966.00	\$135.00	\$945.00
		Furnish; install; maintain;						
		and remove Type D inlet						
		protection; complete as						
	2506	specified	Each	4.00	\$138.00	\$552.00	\$135.00	\$540.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$3,065.00	\$12,260.00	\$3,000.00	\$12,000.00
		Furnish; install; maintain;						
		and remove silt fence;						
	2514	complete as specified	Linear Feet	9,050.00	\$2.00	\$18,100.00	\$2.00	\$18,100.00
		Furnish; install; maintain;						
		and remove ditch check;						
	2522	complete as specified	Each	74.00	\$84.00	\$6,216.00	\$82.00	\$6,068.00
		Furnish and install rock						
		dam; complete as						
	2527	specified	Linear Feet	275.00	\$75.00	\$20,625.00	\$70.00	\$19,250.00
		Install salvaged topsoil 6"						
		depth; complete as						
	2603	specified	Lump Sum	1.00	\$660,000.00	\$660,000.00	\$645,075.00	\$645,075.00
		Furnish and install native						
		seeding; floodplain mix;						
	2610	complete as specified	Square Yards	114,000.00	\$0.80	\$91,200.00	\$0.75	\$85,500.00
		Furnish and install native						
		seeding; mesic mix;						
	2612	complete as specified	Square Yards	103,000.00	\$0.70	\$72,100.00	\$0.67	\$69,010.00
		Furnish and install turf	•			•		·
		grass; complete as						
	2620	specified	Square Yards	7,500.00	\$0.80	\$6,000.00	\$0.76	\$5,700.00

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City				1				
, , , , , , , , , , , , , , , , , , , ,	, -							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
Dia opening. 00/20/2020 02	Liou I iii CD I							
					PTS Contr	actors Inc	Mashuda C	ontractors
					4075 Eat	·	Masituda	ontractors
					Green Bay, WI 54311			
C t' Tr't	Ti C 1	T. D	TI 01	0 111			77 '. P '	T
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install no-						
		mow fescue; complete as						
	2622	specified	Square Yards	150,000.00	\$0.65	\$97,500.00	\$0.64	\$96,000.00
		Furnish and install						
		annual cover crop;						
	2624	complete as specified	Square Yards	680,000.00	\$0.12	\$81,600.00	\$0.11	\$74,800.00
		Furnish and install Class						
		II; Type B erosion control						
		mat; complete as						
	2634	specified	Square Yards	35,000.00	\$1.85	\$64,750.00	\$1.80	\$63,000.00
		Furnish and install turf						
		reinforcement mat						
		system; complete as						
	2638	specified	Square Yards	3,930.00	\$19.00	\$74,670.00	\$18.50	\$72,705.00
		Furnish and install						
		medium rip-rap with						
		filter fabric; complete as						
	2648	specified	Square Yards	350.00	\$90.00	\$31,500.00	\$40.00	\$14,000.00
		Install articulated	-					
		concrete block mat						
		(ACBM) revetment						
		system; complete as						
	2659	specified	Square Yards	2,100.00	\$208.00	\$436,800.00	\$205.00	\$430,500.00
		Remove 30" and smaller	1	·		-		·
		storm sewer; complete as						
	2804	specified	Linear Feet	550.00	\$29.00	\$15,950.00	\$17.00	\$9,350.00
		Remove; salvage; and			,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		relocate existing endwall;						
	2860	complete as specified	Each	2.00	\$350.00	\$700.00	\$1,553.00	\$3,106.00
	2000	Storm sewer utility line	zaci	2.00	φοσοίοσ	φ, σσ.σσ	\$1,000.00	ψ0/100.00
		opening (ULO); complete						
	2914	as specified	Each	20.00	\$1.00	\$20.00	\$1,096.00	\$21,920.00
	2714	Clear and grub; Zone A;	Lacii	20.00	ψ1.00	Ψ20.00	\$1,000.00	Ψ21,720.00
	2915	complete as specified	Lump Sum	1.00	\$25,600.00	\$25,600.00	\$25,000.00	\$25,000.00
	2913	Clear and grub; Zone B;	Lump Jum	1.00	φ23,000.00	φ20,000.00	φ23,000.00	ΨΔ3,000.00
	2916	complete as specified	Lump Sum	1.00	\$35,750.00	\$35,750.00	\$35,000.00	\$35,000.00
	2910	Construct clay liner;	Lump Sum	1.00	00.00/,٥٥٥	\$35,750.00	φοσ,υυυ.00	\$33,000.00
	2934		Lump Com	1.00	\$72,000.00	\$72,000.00	\$69,613.00	\$69,613.00
	2934	complete as specified General excavation; Rural	Lump Sum	1.00	\$72,000.00	\$72,000.00	\$09,013.00	\$69,613.00
		II Detention Basin;						
	2025	· ·	I C	1.00	#2 000 000 00	#2 000 000 00	#0.004 F04.00	#0.004 F04.00
	2935	complete as specified	Lump Sum	1.00	\$3,988,000.00	\$3,988,000.00	\$3,904,504.00	\$3,904,504.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
	<u> </u>							
Bid Opening: 08/28/2023 0	2:00 PM CDT							
					PTS Contract	tors. Inc	Mashuda Cor	ntractors
					4075 Eaton		177107111111111111111111111111111111111	
					Green Bay, W			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem Code	General excavation; Clark-	COLIVI	Qualitity	Office	EXTERSION	Outrice	Extension
		Hill Detention Basin;						
	2026			1.00	#440,000,00	#440,000,00	# 420 200 00	#420,200,00
	2936	complete as specified Furnish and install 8"	Lump Sum	1.00	\$440,000.00	\$440,000.00	\$429,200.00	\$429,200.0
		sanitary sewer (new);						
	3030	complete as specified	Linear Feet	1,667.00	\$120.00	\$200,040.00	\$102.00	\$170,034.0
		Furnish and install 12"						
		sanitary sewer (new);						
	3034	complete as specified	Linear Feet	1,920.00	\$79.00	\$151,680.00	\$85.00	\$163,200.0
		Furnish and install 15"						
		sanitary sewer (new);						
	3036	complete as specified	Linear Feet	1,487.00	\$220.00	\$327,140.00	\$240.00	\$356,880.0
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	6.19	\$800.00	\$4,952.00	\$2,072.00	\$12,825.6
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	270.00	\$540.00	\$145,800.00	\$420.00	\$113,400.0
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	17.00	\$480.00	\$8,160.00	\$961.00	\$16,337.0
		Furnish and install 8" x 4"			, , , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,
		sanitary sewer factory						
		wyes or tees; complete as						
	3200	specified	Each	6.00	\$128.00	\$768.00	\$434.00	\$2,604.0
	5200	Furnish and install 15" x	Eucr	0.00	Ψ120.00	\$7.00.00	\$151.00	Ψ2,001.0
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3206	specified	Each	6.00	\$510.00	\$3,060.00	\$855.00	\$5,130.0
	3206	Furnish and install 15" x	EdCII	6.00	\$310.00	\$3,060.00	\$855.00	\$3,130.0
		6" sanitary sewer factory						
	2017	wyes or tees; complete as	F. 1	1.00	#04E 00	#04F 00	#0E2.00	#O=2 0
	3216	specified Furnish and install 4"	Each	1.00	\$845.00	\$845.00	\$953.00	\$953.0
		sanitary sewer laterals						
		(new); complete as			***			
	3230	specified	Linear Feet	386.00	\$98.00	\$37,828.00	\$109.00	\$42,074.0

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ıral II Detention Basin - Coı	nstruction (#860895	57)				
Owner: Oshkosh WI, City o	ıf							
Solicitor: Oshkosh WI, City	of							
•								
Bid Opening: 08/28/2023 02:	:00 PM CDT							
3								
					PTS Contra	actors. Inc	Mashuda Co	ontractors
					4075 Eato	· ·		
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem Code	Furnish and install 6"	COLVI	Qualitity	Oint Trice	Extension	OIII THEE	Extension
		sanitary sewer laterals						
		-						
	2222	(new); complete as	Lineau Feet	22.00	¢120.00	¢4.160.00	#120.00	¢4 100 0
	3232	specified Furnish and install	Linear Feet	32.00	\$130.00	\$4,160.00	\$129.00	\$4,128.00
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	13.00	\$48.00	\$624.00	\$221.00	\$2,873.00
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	1.00	\$1,800.00	\$1,800.00	\$1,539.00	\$1,539.00
		Core into existing						
		manhole; complete as						
	3332	specified	Each	1.00	\$1.00	\$1.00	\$2,327.00	\$2,327.00
		Furnish and install 12"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3406	specified	Linear Feet	56.00	\$200.00	\$11,200.00	\$135.00	\$7,560.00
		Furnish and install 24"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3412	specified	Linear Feet	33.00	\$360.00	\$11,880.00	\$251.00	\$8,283.00
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	5,074.00	\$1.50	\$7,611.00	\$2.00	\$10,148.00
		Furnish 8" sanitary sewer						
		air pressure test;						
	3935	complete as specified	Each	5.00	\$325.00	\$1,625.00	\$267.00	\$1,335.00
		Furnish 12" sanitary						
		sewer air pressure test;						
	3939	complete as specified	Each	5.00	\$390.00	\$1,950.00	\$340.00	\$1,700.00
		Furnish 15" sanitary				. ,		. ,
		sewer air pressure test;						
	3941	complete as specified	Each	5.00	\$450.00	\$2,250.00	\$1,425.00	\$7,125.00
		Furnish and install new 6"		1	4-2-100	4-,	4-,	4. /
		ductile iron water main						
		with polywrap; complete						
	4020	as specified	Linear Feet	116.00	\$135.00	\$15,660.00	\$77.00	\$8,932.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ral II Detention Basin - Cor	struction (#86089	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
,								
Bid Opening: 08/28/2023 0	2:00 PM CDT							
					PTS Contract	tors Inc	Mashuda Con	tractors
					4075 Eaton		Wasitada Con	tiactors
					Green Bay, W			
Section Title	Item Code	Itam Dagmintian	UofM	Ouantitu	Unit Price	Extension	Unit Price	Extension
Section Title	item Code	Item Description Furnish and install new	COTIVI	Quantity	Unit Frice	Extension	Ontrice	Extension
		10" ductile iron water						
	400.4	main with polywrap;		4.005.00	4400.00	4102 500 00	407.00	440 / 505 0/
	4024	complete as specified	Linear Feet	1,925.00	\$100.00	\$192,500.00	\$97.00	\$186,725.00
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	437.00	\$76.00	\$33,212.00	\$53.00	\$23,161.00
		Furnish and install 2"						
		water service (new);						
	4046	complete as specified	Linear Feet	11.00	\$200.00	\$2,200.00	\$67.00	\$737.00
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	12.00	\$485.00	\$5,820.00	\$887.00	\$10,644.00
		Furnish and install 2"						
		corporation and stop box;						
	4053	complete as specified	Each	1.00	\$1,300.00	\$1,300.00	\$1,771.00	\$1,771.00
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	7.00	\$1,500.00	\$10,500.00	\$1,776.00	\$12,432.00
		Furnish and install						
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	1.00	\$2,300.00	\$2,300.00	\$2,050.00	\$2,050.00
		Furnish and install 10" x			.,			· ,
		6" water main tee;						
	4119	complete as specified	Each	4.00	\$920.00	\$3,680.00	\$1,168.00	\$4,672.00
		Furnish and install 10" x			,	, , , , , , , , , , , , , , , , , , , ,	, ,	, , ,
		10" water main tee;						
	4121	complete as specified	Each	1.00	\$1,200.00	\$1,200.00	\$1,284.00	\$1,284.00
		Furnish and install 10"		1.00	\$1,200.00	\$1,200.00	Ψ1/201.00	Ψ1,=01.00
		water main plug;						
	4310	complete as specified	Each	2.00	\$300.00	\$600.00	\$2,802.00	\$5,604.00
	1010	Furnish and install 6"	Ducii	2.00	ψουσ.υυ	φοσο.σσ	Ψ2,002.00	ψ5,004.00
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$1,850.00	\$7,400.00	\$2,445.00	\$9,780.0
	4401	Furnish and install 10"	EdCII	4.00	\$1,000.00	\$7,400.00	\$2,440.00	ቅን,/ዕህ.ሀር
	4400	water main gate valve;	F. 1	5.00	#0 COE OC	#10.105.00	# 4 APE OC	#00 OFF 00
	4403	complete as specified	Each	5.00	\$3,625.00	\$18,125.00	\$4,475.00	\$22,375.00

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ıral II Detention Basin - Con	struction (#860895	57)				
Owner: Oshkosh WI, City o	f							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 08/28/2023 02:	:00 PM CDT							
					PTS Contra	ctors, Inc	Mashuda (Contractors
					4075 Eato	n Road		
					Green Bay,	WI 54311		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install valve						
		box replacement;						
	4490	complete as specified	Each	7.00	\$810.00	\$5,670.00	\$1,344.00	\$9,408.00
		Furnish and install				·	·	
		hydrant; complete as						
	4500	specified	Each	4.00	\$5,270.00	\$21,080.00	\$6,213.00	\$24,852.00
		Relocate existing hydrant;						
	4501	complete as specified	Each	7.00	\$1,100.00	\$7,700.00	\$2,357.00	\$16,499.00
		Furnish and install 6"						
		water main casing pipe;						
	4716	complete as specified	Linear Feet	56.00	\$90.00	\$5,040.00	\$106.00	\$5,936.00
Section 2: Alternate 1 (Awa	rded)					\$119,525.00		\$117,040.00
		Compaction of southern						
		20 acres of Clark-Hill Fill						
		Site; complete as						
	2956-1	specified	Lump Sum	1.00	\$119,525.00	\$119,525.00	\$117,040.00	\$117,040.00
Section 3: Alternate 2 (Awa	rded)					\$323,450.00		\$316,720.00
		Compaction of northern						
		60 acres of Clark-Hill Fill						
		Site; complete as						
	2958-2	specified	Lump Sum	1.00	\$323,450.00	\$323,450.00	\$316,720.00	\$316,720.00
Section 4: Alternate 3 (Awa	rded)					\$1.00		\$109,940.00
		Temporary paving of						
		Clairville Road; complete						
	2960-3	as specified	Lump Sum	1.00	\$1.00	\$1.00	\$109,940.00	\$109,940.00
Bid Total:		<u> </u>				\$10,521,232.00		\$10,743,899.98

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
·								
Bid Opening: 08/28/2023 0	2:00 PM CDT							
9								
					Michels Road &	& Stone, Inc.	Dorne	r Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid						\$10,253,509.68		\$10,808,468.40
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$314,718.00	\$314,718.00	\$174,918.00	\$174,918.00
		Removing pavement;						
	1100	complete as specified	Square Yards	8,420.00	\$2.10	\$17,682.00	\$0.50	\$4,210.00
		Removing curb and						
		gutter; complete as						
	1110	specified	Linear Feet	200.00	\$5.00	\$1,000.00	\$2.10	\$420.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	4,840.00	\$1.00	\$4,840.00	\$0.40	\$1,936.00
		Unclassified excavation;						
	1200	complete as specified	Cubic Yards	9,620.00	\$10.50	\$101,010.00	\$7.60	\$73,112.00
		Ground stabilization						
		fabric; complete as						
	1230	specified	Square Yards	6,060.00	\$3.50	\$21,210.00	\$1.30	\$7,878.00
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	34.00	\$649.50	\$22,083.00	\$650.00	\$22,100.00
		Restore gravel						
		driveway/apron;						
	1372	complete as specified	Square Yards	110.00	\$16.00	\$1,760.00	\$12.50	\$1,375.00
		30" curb and gutter; 8";						
	1444	complete as specified	Linear Feet	100.00	\$100.00	\$10,000.00	\$104.60	\$10,460.00
		36" mountable curb and						
		gutter; 8"; complete as						
	1451	specified	Linear Feet	100.00	\$100.00	\$10,000.00	\$104.60	\$10,460.00
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	16.00	\$205.00	\$3,280.00	\$41.80	\$668.80
		Replace section corner;						
	1651	complete as specified	Each	1.00	\$500.00	\$500.00	\$836.40	\$836.40
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	7.00	\$25.00	\$175.00	\$88.90	\$622.30
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	400.00	\$2.35	\$940.00	\$3.00	\$1,200.00

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	v of							
<u> </u>	<u> </u>							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
714 Opening, 00,20,2020 01	1							
				1	Michels Road	& Stone Inc	Dorne	r Inc
				+	WHEREIS ROAD	a & Stone, me.	Donic	i inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem Code	Base aggregate dense;	COLIVI	Qualitity	Chit Trice	Extension	OmtTite	Extension
		3/4"; complete as						
	1000	specified	Т	710.00	#2F 20	¢17,002,00	#22 F0	¢17.117.0
	1800	Base aggregate dense; 1-	Tons	710.00	\$25.20	\$17,892.00	\$22.70	\$16,117.0
	1001	1/4"; complete as	T	0.600.00	#10.00	#02 F40 00	#10 2 0	#1E (E20 0
	1801	specified	Tons	8,600.00	\$10.90	\$93,740.00	\$18.20	\$156,520.0
	1000	Base aggregate dense; 3";		126000	***	*45.4 2 4.00	04550	454 550 0
	1802	complete as specified	Tons	4,260.00	\$10.90	\$46,434.00	\$17.50	\$74,550.0
	1000	Tack coat; complete as	0.11	2=0.00	42.00	# # 00.00	#= 00	A4 ==0.0
	1900	specified	Gallons	250.00	\$2.80	\$700.00	\$7.00	\$1,750.0
		HMA Pavement LT;	_		**		****	
	1901	complete as specified	Tons	280.00	\$156.00	\$43,680.00	\$110.90	\$31,052.0
		HMA Pavement MT;	_			****	+= 0 +0	
	1902	complete as specified	Tons	2,670.00	\$75.30	\$201,051.00	\$78.60	\$209,862.0
		Asphalt flume; complete						
	1935	as specified	Square Yards	30.00	\$58.00	\$1,740.00	\$32.40	\$972.00
		Prepare foundation for						
		asphaltic paving;						
	1960	complete as specified	Lump Sum	1.00	\$18,960.00	\$18,960.00	\$20,434.00	\$20,434.0
		Pavement markings;						
		epoxy; 4" (white);						
	1974	complete as specified	Linear Feet	6,000.00	\$0.75	\$4,500.00	\$0.80	\$4,800.0
		Pavement markings;						
		epoxy; 4" (yellow);						
	1975	complete as specified	Linear Feet	2,500.00	\$0.75	\$1,875.00	\$0.80	\$2,000.0
		Pavement markings; stop-						
		line epoxy; 18" (white);						
	1978	complete as specified	Linear Feet	17.00	\$14.00	\$238.00	\$14.60	\$248.2
		Furnish and install woven						
		wire fencing; complete as						
	1990	specified	Linear Feet	6,840.00	\$5.25	\$35,910.00	\$5.50	\$37,620.0
		Furnish and install high						
		tensile fencing; complete						
	1991	as specified	Linear Feet	75.00	\$6.00	\$450.00	\$6.30	\$472.5
		Furnish and install						
		double leaf gate;		[
	1992	complete as specified	Each	2.00	\$2,600.00	\$5,200.00	\$2,718.00	\$5,436.0
		Furnish and install 12"						
		RCP Class III storm						
		sewer; complete as						
	2004	specified	Linear Feet	34.00	\$67.00	\$2,278.00	\$47.00	\$1,598.0

Contract 23-16 - Sawyer Cro	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
<u> </u>								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
					Michels Road	& Stone, Inc.	Dorne	r Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 24"		~~~~				
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	122.00	\$102.00	\$12,444.00	\$86.00	\$10,492.00
		Furnish and install 30"			,	, , , , , , , , , , , , , , , , , , , ,	,	,
		RCP Class III storm						
		sewer; complete as						
	2022	specified	Linear Feet	29.00	\$122.00	\$3,538.00	\$116.00	\$3,364.00
		Furnish and install 36"			·	. ,	·	· ,
		RCP Class III storm						
		sewer; complete as						
	2025	specified	Linear Feet	358.00	\$157.00	\$56,206.00	\$140.00	\$50,120.00
		Furnish and install 48"						
		RCP Class III storm						
		sewer; complete as						
	2031	specified	Linear Feet	1,026.00	\$212.00	\$217,512.00	\$214.00	\$219,564.00
		Furnish and install 14" x						
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	304.00	\$106.00	\$32,224.00	\$103.00	\$31,312.00
		Furnish and install 19" x						
		30" HERCP Class III						
		storm sewer; complete as						
	2047	specified	Linear Feet	344.00	\$124.00	\$42,656.00	\$116.00	\$39,904.00
		Furnish and install 4' x 6'						
		box culvert storm sewer;						
	2072	complete as specified	Linear Feet	1,449.00	\$806.00	\$1,167,894.00	\$852.00	\$1,234,548.00
		Furnish and install 4'						
		diameter manhole riser						
		on 4' x 6' box culvert;						
	2113	complete as specified	Vertical Feet	13.00	\$1,931.00	\$25,103.00	\$793.00	\$10,309.00
		Furnish and install 24"						
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	2.00	\$2,402.00	\$4,804.00	\$1,379.00	\$2,758.00
		Furnish and install 36"						
		RCP Class III apron						
		endwall with joint ties;						
	2147	complete as specified	Each	2.00	\$3,883.00	\$7,766.00	\$3,057.00	\$6,114.00

Contract 23-16 - Sawyer Cree	k Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City of	·							
Solicitor: Oshkosh WI, City	of							
•								
Bid Opening: 08/28/2023 02:0	00 PM CDT							
1 0								
					Michels Road &	Stone, Inc.	Dorner I	1c.
						5 10-10,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 48"		2			23307 2330	
		RCP Class III apron						
		endwall with joint ties;						
	2149	complete as specified	Each	5.00	\$5,461.00	\$27,305.00	\$3,399.00	\$16,995.0
	2147	Furnish and install 14" x	Eacii	3.00	\$5,401.00	\$27,303.00	\$3,379.00	\$10,293.0
		23" RCP Class III apron						
		endwall with joint ties;						
	2154		Each	20.00	\$1,424.00	\$28,480.00	\$1,123.00	\$22,460.0
	2134	complete as specified Furnish and install 19" x	Eacn	20.00	\$1,424.00	\$28,480.00	\$1,123.00	\$22,460.0
		30" RCP Class III apron						
		-						
	24	endwall with joint ties;		20.00	44.504.00	#24 72 0 00	#4 242 CO	40 < 0.40 0
	2155	complete as specified Furnish and install 4' x 6'	Each	20.00	\$1,586.00	\$31,720.00	\$1,312.00	\$26,240.0
		box culvert end section						
		with joint ties; complete						
	2171	as specified	Each	1.00	\$8,663.00	\$8,663.00	\$14,167.00	\$14,167.00
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	11.00	\$1,960.00	\$21,560.00	\$1,015.00	\$11,165.0
		Furnish and install						
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	9.00	\$2,747.00	\$24,723.00	\$1,769.00	\$15,921.0
		Furnish and install						
		standard storm sewer						
		manhole (8' x 8' box);						
	2211	complete as specified	Vertical Feet	10.00	\$2,407.00	\$24,070.00	\$2,501.00	\$25,010.0
		Furnish and install						
		standard storm sewer						
		inlet manhole (6'						
		diameter); complete as						
	2215	specified	Vertical Feet	13.00	\$1,311.00	\$17,043.00	\$1,498.00	\$19,474.0
		Furnish and install storm						·
		sewer outlet structure;						
		Rural II Basin; complete						
	2226	as specified	Each	1.00	\$139,400.00	\$139,400.00	\$171,772.00	\$171,772.00
	1	Furnish and install Type 1	-		,	,,	. ,	, , ====
		inlet; complete as						
	2236	specified	Each	1.00	\$2,498.00	\$2,498.00	\$5,330.00	\$5,330.00

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
, ,								
Bid Opening: 08/28/2023 02	:00 PM CDT							
514 opening. 00/20/2020 02	100 1111 02 1							
				1	Michels Road	& Stone Inc	Dorne	r Inc
					Witchels Road	& Stolle, Ilic.	Donie	i ilic.
Section Title	Item Code	Itom Description	UofM	Ouantitu	Unit Price	Extension	Unit Price	Extension
Section Title	item Code	Item Description Furnish and install	COLM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		WDOT Inlet Median 1						
	22.10	grate; complete as		2.00	#4.500.00	#0.004.00	#2.055.00	# = 000 00
	2240	specified	Each	2.00	\$4,502.00	\$9,004.00	\$3,966.00	\$7,932.00
		Furnish and install						
		WDOT Inlet Median 2						
		grate; complete as						
	2241	specified	Each	3.00	\$4,963.00	\$14,889.00	\$6,550.00	\$19,650.00
		Furnish; install; maintain;						
		and remove Type A inlet						
		protection; complete as						
	2500	specified	Each	7.00	\$135.00	\$945.00	\$141.00	\$987.00
		Furnish; install; maintain;						
		and remove Type D inlet						
		protection; complete as						
	2506	specified	Each	4.00	\$135.00	\$540.00	\$141.00	\$564.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$500.00	\$2,000.00	\$3,137.00	\$12,548.00
	2012	Furnish; install; maintain;	Lucii	1.00	\$200.00	\$2,000.00	φο/107.100	ψ12/010.00
		and remove silt fence;						
	2514	complete as specified	Linear Feet	9,050.00	\$2.00	\$18,100.00	\$2.10	\$19,005.00
	2314	Furnish; install; maintain;	Linear Feet	9,030.00	\$2.00	\$18,100.00	\$2.10	\$17,000.00
		and remove ditch check;						
	2522	, ' I	Faala	74.00	¢82.00	¢6,068,00	¢86.00	¢6.264.00
	2522	complete as specified Furnish and install rock	Each	74.00	\$82.00	\$6,068.00	\$86.00	\$6,364.00
	2525	dam; complete as	T. T.	275.00	#F0.00	#10.250.00	# 72 00	#20 OFF 0
	2527	specified	Linear Feet	275.00	\$70.00	\$19,250.00	\$73.00	\$20,075.00
		Install salvaged topsoil 6"						
		depth; complete as						
	2603	specified	Lump Sum	1.00	\$336,400.00	\$336,400.00	\$674,426.00	\$674,426.00
		Furnish and install native						
		seeding; floodplain mix;						
	2610	complete as specified	Square Yards	114,000.00	\$0.75	\$85,500.00	\$0.80	\$91,200.00
		Furnish and install native						
		seeding; mesic mix;						
	2612	complete as specified	Square Yards	103,000.00	\$0.67	\$69,010.00	\$0.70	\$72,100.00
		Furnish and install turf						
		grass; complete as						
	2620	specified	Square Yards	7,500.00	\$0.76	\$5,700.00	\$0.80	\$6,000.00

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
1 0								
					Michels Road	& Stone, Inc.	Dorne	r Inc.
						,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install no-						
		mow fescue; complete as						
	2622	specified	Square Yards	150,000.00	\$0.64	\$96,000.00	\$0.70	\$105,000.00
		Furnish and install	1		·	· ·	·	
		annual cover crop;						
	2624	complete as specified	Square Yards	680,000.00	\$0.11	\$74,800.00	\$0.10	\$68,000.00
		Furnish and install Class	1		·	· ·	·	
		II; Type B erosion control						
		mat; complete as						
	2634	specified	Square Yards	35,000.00	\$1.80	\$63,000.00	\$1.90	\$66,500.00
		Furnish and install turf	•			<u> </u>		·
		reinforcement mat						
		system; complete as						
	2638	specified	Square Yards	3,930.00	\$18.50	\$72,705.00	\$19.30	\$75,849.00
		Furnish and install	1		·	· ·	·	
		medium rip-rap with						
		filter fabric; complete as						
	2648	specified	Square Yards	350.00	\$85.00	\$29,750.00	\$88.90	\$31,115.00
		Install articulated	-1		,	, .,	******	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		concrete block mat						
		(ACBM) revetment						
		system; complete as						
	2659	specified	Square Yards	2,100.00	\$205.00	\$430,500.00	\$214.30	\$450,030.00
		Remove 30" and smaller	1		·	· · ·	·	· · · · · · · · · · · · · · · · · · ·
		storm sewer; complete as						
	2804	specified	Linear Feet	550.00	\$17.00	\$9,350.00	\$16.00	\$8,800.00
		Remove; salvage; and						
		relocate existing endwall;						
	2860	complete as specified	Each	2.00	\$1,553.00	\$3,106.00	\$1,265.00	\$2,530.00
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	20.00	\$1,096.00	\$21,920.00	\$1,139.00	\$22,780.00
		Clear and grub; Zone A;						
	2915	complete as specified	Lump Sum	1.00	\$25,000.00	\$25,000.00	\$26,138.00	\$26,138.00
		Clear and grub; Zone B;						
	2916	complete as specified	Lump Sum	1.00	\$35,000.00	\$35,000.00	\$36,593.00	\$36,593.00
		Construct clay liner;						
	2934	complete as specified	Lump Sum	1.00	\$18,200.00	\$18,200.00	\$72,780.00	\$72,780.00
		General excavation; Rural						
		II Detention Basin;						
	2935	complete as specified	Lump Sum	1.00	\$4,084,000.00	\$4,084,000.00	\$4,082,159.00	\$4,082,159.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
· · ·								
Bid Opening: 08/28/2023 0	2:00 PM CDT							
514 opening. 00/20/2020 0								
					Michels Road &	Stone Inc	Dorner	Inc
					WHEREIS ROAD &	Stone, nic.	Domer	iiic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		General excavation; Clark-						
		Hill Detention Basin;						
	2936	complete as specified	Lump Sum	1.00	\$566,000.00	\$566,000.00	\$448,729.00	\$448,729.0
		Furnish and install 8"						
		sanitary sewer (new);						
	3030	complete as specified	Linear Feet	1,667.00	\$102.00	\$170,034.00	\$175.00	\$291,725.0
		Furnish and install 12"						
		sanitary sewer (new);						
	3034	complete as specified	Linear Feet	1,920.00	\$85.00	\$163,200.00	\$88.00	\$168,960.0
		Furnish and install 15"						
		sanitary sewer (new);						
	3036	complete as specified	Linear Feet	1,487.00	\$240.00	\$356,880.00	\$343.00	\$510,041.0
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	6.19	\$2,072.00	\$12,825.68	\$600.00	\$3,714.0
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	270.00	\$420.00	\$113,400.00	\$539.00	\$145,530.0
		Furnish and install			·	. ,	· •	· · · · · · · · · · · · · · · · · · ·
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	17.00	\$961.00	\$16,337.00	\$503.00	\$8,551.0
		Furnish and install 8" x 4"			4,,,,,,,	4-0,000.000	444444	40,000
		sanitary sewer factory						
		wyes or tees; complete as						
	3200	specified	Each	6.00	\$434.00	\$2,604.00	\$203.00	\$1,218.0
	5200	Furnish and install 15" x	Eucr	0.00	φ101.00	Ψ2,001.00	Ψ200.00	Ψ1,210.0
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3206	specified	Each	6.00	\$855.00	\$5,130.00	\$623.00	\$3,738.0
	3200	Furnish and install 15" x	Lacii	0.00	φουσ.00	φυ,130.00	ψ023.00	φ5,736.0
		6" sanitary sewer factory						
		wyes or tees; complete as						
	2216	specified	Eash	1.00	¢0E2 00	¢052.00	¢1 007 00	¢1 007 0
	3216	Furnish and install 4"	Each	1.00	\$953.00	\$953.00	\$1,006.00	\$1,006.0
		sanitary sewer laterals						
	2222	(new); complete as	I to a P	207.00	#100.00	#40.054.00	#105.00	#40 500 0
	3230	specified	Linear Feet	386.00	\$109.00	\$42,074.00	\$105.00	\$40,530.0

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ıral II Detention Basin - Coı	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	of							
•								
3id Opening: 08/28/2023 02	2:00 PM CDT							
1 0								
					Michels Road &	& Stone, Inc.	Dorner	Inc.
								· ·
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Time	Tiem coue	Furnish and install 6"	001111	Quantity		Extendion	0.111.111.00	Extension
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	32.00	\$129.00	\$4,128.00	\$115.00	\$3,680.00
	3232	Furnish and install	Effical Teet	32.00	\$125.00	ψ+,120.00	\$115.00	φ5,000.00
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	13.00	\$221.00	\$2,873.00	\$46.00	\$598.00
	3236	Furnish and install	Eacn	13.00	\$221.00	\$2,073.00	\$46.00	\$396.00
		connection to existing 12"						
		_						
	2204	sanitary sewer mains;	F 1	1.00	#1 500.00	#1 520.00	#4.102.00	#4.102.00
	3304	complete as specified	Each	1.00	\$1,539.00	\$1,539.00	\$4,193.00	\$4,193.00
		Core into existing						
		manhole; complete as						
	3332	specified Furnish and install 12"	Each	1.00	\$2,327.00	\$2,327.00	\$5,146.00	\$5,146.00
		sanitary sewer open cut						
		casing pipes; complete as						
	3406	specified	Linear Feet	56.00	\$135.00	\$7,560.00	\$208.00	\$11,648.00
		Furnish and install 24"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3412	specified	Linear Feet	33.00	\$251.00	\$8,283.00	\$273.00	\$9,009.00
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	5,074.00	\$2.00	\$10,148.00	\$1.30	\$6,596.20
		Furnish 8" sanitary sewer						
		air pressure test;						
	3935	complete as specified	Each	5.00	\$267.00	\$1,335.00	\$173.00	\$865.00
		Furnish 12" sanitary						
		sewer air pressure test;						
	3939	complete as specified	Each	5.00	\$340.00	\$1,700.00	\$261.00	\$1,305.00
<u> </u>		Furnish 15" sanitary						
		sewer air pressure test;						
	3941	complete as specified	Each	5.00	\$1,425.00	\$7,125.00	\$298.00	\$1,490.00
		Furnish and install new 6"						
		ductile iron water main						
		with polywrap; complete						
	4020	as specified	Linear Feet	116.00	\$77.00	\$8,932.00	\$79.00	\$9,164.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Cor	struction (#86089	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
· · · · · · · · · · · · · · · · · · ·	,							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
					Michels Road &	Stone, Inc.	Dorner I	nc.
					Marie San Andrew	otolicy liter		
a d mid	T. C.1	7. 7. 1.1		0 "	V. 1. D.	7.	** ** ** **	
Section Title	Item Code	Item Description Furnish and install new	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		10" ductile iron water						
		main with polywrap;						****
	4024	complete as specified	Linear Feet	1,925.00	\$97.00	\$186,725.00	\$97.00	\$186,725.00
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	437.00	\$53.00	\$23,161.00	\$95.00	\$41,515.00
		Furnish and install 2"						
		water service (new);						
	4046	complete as specified	Linear Feet	11.00	\$67.00	\$737.00	\$82.00	\$902.00
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	12.00	\$887.00	\$10,644.00	\$813.00	\$9,756.00
		Furnish and install 2"						
		corporation and stop box;						
	4053	complete as specified	Each	1.00	\$1,771.00	\$1,771.00	\$1,776.00	\$1,776.00
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	7.00	\$1,776.00	\$12,432.00	\$1,506.00	\$10,542.00
		Furnish and install						
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	1.00	\$2,050.00	\$2,050.00	\$3,249.00	\$3,249.00
		Furnish and install 10" x						
		6" water main tee;						
	4119	complete as specified	Each	4.00	\$1,168.00	\$4,672.00	\$1,033.00	\$4,132.00
		Furnish and install 10" x						
		10" water main tee;						
	4121	complete as specified	Each	1.00	\$1,284.00	\$1,284.00	\$1,278.00	\$1,278.00
		Furnish and install 10"						
		water main plug;						
	4310	complete as specified	Each	2.00	\$2,802.00	\$5,604.00	\$316.00	\$632.00
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$2,445.00	\$9,780.00	\$1,998.00	\$7,992.00
		Furnish and install 10"						
		water main gate valve;						
	4403	complete as specified	Each	5.00	\$4,475.00	\$22,375.00	\$3,937.00	\$19,685.00

Contract 23-16 - Sawyer Cree	ek Watershed Ru	ıral II Detention Basin - Con	struction (#860895	57)				
Owner: Oshkosh WI, City o	f							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 08/28/2023 02:	00 PM CDT							
					Michels Road &	& Stone, Inc.	Dorne	er Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install valve						
		box replacement;						
	4490	complete as specified	Each	7.00	\$1,344.00	\$9,408.00	\$550.00	\$3,850.00
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	4.00	\$6,213.00	\$24,852.00	\$6,045.00	\$24,180.00
		Relocate existing hydrant;						
	4501	complete as specified	Each	7.00	\$2,357.00	\$16,499.00	\$2,178.00	\$15,246.00
		Furnish and install 6"						
		water main casing pipe;						
	4716	complete as specified	Linear Feet	56.00	\$106.00	\$5,936.00	\$175.00	\$9,800.00
Section 2: Alternate 1 (Awa	rded)					\$233,000.00		\$122,365.00
		Compaction of southern						
		20 acres of Clark-Hill Fill						
		Site; complete as						
	2956-1	specified	Lump Sum	1.00	\$233,000.00	\$233,000.00	\$122,365.00	\$122,365.00
Section 3: Alternate 2 (Awa	rded)					\$758,000.00		\$331,131.00
		Compaction of northern						
		60 acres of Clark-Hill Fill						
		Site; complete as						
	2958-2	specified	Lump Sum	1.00	\$758,000.00	\$758,000.00	\$331,131.00	\$331,131.00
Section 4: Alternate 3 (Awa	rded)					\$20,000.00		\$50,000.00
		Temporary paving of						
		Clairville Road; complete						
	2960-3	as specified	Lump Sum	1.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00
Bid Total:				<u> </u>		\$11,264,509.68		\$11,311,964.40

Contract 23-16 - Sawyer Creek	c Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	i7)				
Owner: Oshkosh WI, City of		I Detention busin Co.	astruction (#000090	1				
Solicitor: Oshkosh WI, City o								
Solicitor. Oshkosh Wi, City o	1							
Bid Opening: 08/28/2023 02:0	DPM CDT							
Did Opening. 00/25/2025 02.00	OTWICE!							
					David Tenor	Corporation	Integrity Grading a	nd Excavating Inc
					Davia Tellor	Corporation	integrity Grading a	na Excuvumg, me.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid				~~~~		\$11,264,589.15		\$11,166,075.65
		Mobilization; complete as				+//		4//
	1050	specified	Lump Sum	1.00	\$530,000.00	\$530,000.00	\$605,000.00	\$605,000.00
		Removing pavement;	- P		, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	1100	complete as specified	Square Yards	8,420.00	\$0.02	\$168.40	\$1.37	\$11,535.40
		Removing curb and	1	ŕ	·	·	·	· ,
		gutter; complete as						
	1110	specified	Linear Feet	200.00	\$3.05	\$610.00	\$5.85	\$1,170.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	4,840.00	\$2.13	\$10,309.20	\$0.26	\$1,258.40
		Unclassified excavation;						
	1200	complete as specified	Cubic Yards	9,620.00	\$9.25	\$88,985.00	\$6.22	\$59,836.40
		Ground stabilization						
		fabric; complete as						
	1230	specified	Square Yards	6,060.00	\$1.68	\$10,180.80	\$0.97	\$5,878.20
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	34.00	\$500.00	\$17,000.00	\$120.67	\$4,102.78
		Restore gravel						
		driveway/apron;			***			
	1372	complete as specified 30" curb and gutter; 8";	Square Yards	110.00	\$11.00	\$1,210.00	\$15.37	\$1,690.70
	1444	_	T. F.	100.00	407.50	#0 FF0 00	#0F 00	#0 5 00 00
	1444	complete as specified 36" mountable curb and	Linear Feet	100.00	\$97.50	\$9,750.00	\$95.00	\$9,500.00
		gutter; 8"; complete as						
	1451		Linear Feet	100.00	\$97.50	\$9,750.00	\$105.00	\$10,500.00
	1451	specified Locate existing property	Linear reet	100.00	\$97.50	\$9,750.00	\$105.00	\$10,300.00
		monuments; complete as						
	1650	specified	Each	16.00	\$45.00	\$720.00	\$93.75	\$1,500.00
	1000	Replace section corner;	Eacii	16.00	\$45.00	\$720.00	\$93.73	\$1,500.00
	1651	complete as specified	Each	1.00	\$700.00	\$700.00	\$100.00	\$100.00
	1001	Replace existing property	Lacii	1.00	φ/ 00.00	Ψ700.00	ψ100.00	ψ100.00
		monuments; complete as						
	1652	specified	Each	7.00	\$95.00	\$665.00	\$285.71	\$1,999.97
	1552	Sawing existing	Lucii	7.00	ψ>5.00	ψ000.00	Ψ200.71	Ψ1,777.71
		pavement; complete as						
	1700	specified	Linear Feet	400.00	\$2.40	\$960.00	\$3.00	\$1,200.00

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Cor	struction (#860895	57)				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
. ,								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
					David Tenor	Corporation	Integrity Grading a	nd Excavating, Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Base aggregate dense;		~~~~				
		3/4"; complete as						
	1800	specified	Tons	710.00	\$20.05	\$14,235.50	\$19.43	\$13,795.30
		Base aggregate dense; 1-			4	4-9-000	427720	4-0/110101
		1/4"; complete as						
	1801	specified	Tons	8,600.00	\$15.23	\$130,978.00	\$14.30	\$122,980.00
		Base aggregate dense; 3";		,,,,,,,,,,	,	, ,	,	, ,
	1802	complete as specified	Tons	4,260.00	\$15.23	\$64,879.80	\$16.83	\$71,695.80
		Tack coat; complete as		,	,	1.2 /2	,	, ,
	1900	specified	Gallons	250.00	\$6.85	\$1,712.50	\$2.80	\$700.00
		HMA Pavement LT;			·	. ,	·	·
	1901	complete as specified	Tons	280.00	\$109.00	\$30,520.00	\$156.00	\$43,680.00
		HMA Pavement MT;				·		·
	1902	complete as specified	Tons	2,670.00	\$77.00	\$205,590.00	\$75.30	\$201,051.00
		Asphalt flume; complete				·		•
	1935	as specified	Square Yards	30.00	\$32.00	\$960.00	\$58.00	\$1,740.00
		Prepare foundation for	•					•
		asphaltic paving;						
	1960	complete as specified	Lump Sum	1.00	\$20,000.00	\$20,000.00	\$18,960.00	\$18,960.00
		Pavement markings;	1		·	·	·	·
		epoxy; 4" (white);						
	1974	complete as specified	Linear Feet	6,000.00	\$0.77	\$4,620.00	\$0.75	\$4,500.00
		Pavement markings;						
		epoxy; 4" (yellow);						
	1975	complete as specified	Linear Feet	2,500.00	\$0.77	\$1,925.00	\$0.75	\$1,875.00
		Pavement markings; stop-						
		line epoxy; 18" (white);						
	1978	complete as specified	Linear Feet	17.00	\$14.21	\$241.57	\$14.00	\$238.00
		Furnish and install woven						
		wire fencing; complete as						
	1990	specified	Linear Feet	6,840.00	\$9.25	\$63,270.00	\$5.25	\$35,910.00
		Furnish and install high						
		tensile fencing; complete						
	1991	as specified	Linear Feet	75.00	\$77.00	\$5,775.00	\$6.00	\$450.00
<u></u>		Furnish and install						
		double leaf gate;						
	1992	complete as specified	Each	2.00	\$6,150.00	\$12,300.00	\$2,600.00	\$5,200.00
		Furnish and install 12"						
		RCP Class III storm						
		sewer; complete as						
	2004	specified	Linear Feet	34.00	\$75.00	\$2,550.00	\$61.65	\$2,096.10

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
-								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
1 0								
					David Tenor (Corporation	Integrity Grading a	nd Excavating, Inc.
						1	0 7 0	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 24"		2	0		0	
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	122.00	\$99.00	\$12,078.00	\$104.47	\$12,745.34
	2010	Furnish and install 30"	Efficial Feet	122.00	ψ,,,,,οο	Ψ12,070.00	ψ101.17	ψ12,7 15.01
		RCP Class III storm						
		sewer; complete as						
	2022	specified	Linear Feet	29.00	\$120.00	\$3,480.00	\$129.93	\$3,767.97
	2022	Furnish and install 36"	Efficial Feet	25.00	Ψ120.00	ψο,100.00	Ψ127.70	ψ0,7 07 .57
		RCP Class III storm						
		sewer; complete as						
	2025	specified	Linear Feet	358.00	\$160.00	\$57,280.00	\$157.77	\$56,481.66
	2020	Furnish and install 48"	Emical Teet	000.00	\$100.00	φοτ/200.00	Ų.107.177	400,101.00
		RCP Class III storm						
		sewer; complete as						
	2031	specified	Linear Feet	1,026.00	\$268.00	\$274,968.00	\$224.58	\$230,419.08
		Furnish and install 14" x		2,02000	4=0000	+=	4	4-00/
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	304.00	\$114.00	\$34,656.00	\$105.69	\$32,129.76
		Furnish and install 19" x			4	44 -/44 4144	4-0000	44-/
		30" HERCP Class III						
		storm sewer; complete as						
	2047	specified	Linear Feet	344.00	\$133.00	\$45,752.00	\$123.67	\$42,542.48
		Furnish and install 4' x 6'			420000	4-0): 0=100	4	¥ ==/¢ == = = =
		box culvert storm sewer;						
	2072	complete as specified	Linear Feet	1,449.00	\$795.00	\$1,151,955.00	\$942.58	\$1,365,798.42
		Furnish and install 4'		,	,	, , , , , , , , , , , , , , , , , , , ,	**	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		diameter manhole riser						
		on 4' x 6' box culvert;						
	2113	complete as specified	Vertical Feet	13.00	\$675.00	\$8,775.00	\$1,779.07	\$23,127.91
		Furnish and install 24"			,	1.,	, , , , , , , ,	, :/-=: ;; -
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	2.00	\$1,600.00	\$3,200.00	\$2,888.49	\$5,776.98
		Furnish and install 36"			. ,	.,	.,	
		RCP Class III apron						
		endwall with joint ties;						
	2147	complete as specified	Each	2.00	\$2,390.00	\$4,780.00	\$5,043.84	\$10,087.68

Contract 23-16 - Sawyer Cro	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City				1				
Solicitor: Oshkosh WI, City								
offerior Conkosh vvi, en	, 01							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
ou Opening. 00/20/2023 02	2.00 TWI CD1							
					David Tanan	Composition	Internity Condings	- J Etino Inc
					David Tenor (Corporation	Integrity Grading a	nu excavating, inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 48"						
		RCP Class III apron						
		endwall with joint ties;						
	2149	complete as specified	Each	5.00	\$3,120.00	\$15,600.00	\$6,837.12	\$34,185.6
	2117	Furnish and install 14" x	Lucii	5.00	φο,120.00	Ψ10,000.00	ψ0,007.12	φο 1,100.0
		23" RCP Class III apron						
		endwall with joint ties;						
	2154	·	E. J.	20.00	¢1 415 00	#20, 200, 00	¢1 022 20	#20 4CE C
	2134	complete as specified Furnish and install 19" x	Each	20.00	\$1,415.00	\$28,300.00	\$1,923.28	\$38,465.6
		30" RCP Class III apron						
		endwall with joint ties;						
	2155	complete as specified	Each	20.00	\$1,600.00	\$32,000.00	\$2,408.52	\$48,170.4
		Furnish and install 4' x 6'						
		box culvert end section						
		with joint ties; complete						
	2171	as specified	Each	1.00	\$8,400.00	\$8,400.00	\$14,332.54	\$14,332.54
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	11.00	\$1,050.00	\$11,550.00	\$943.20	\$10,375.2
		Furnish and install						
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	9.00	\$2,100.00	\$18,900.00	\$1,815.66	\$16,340.9
		Furnish and install			, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, ,,
		standard storm sewer						
		manhole (8' x 8' box);						
	2211	complete as specified	Vertical Feet	10.00	\$2,850.00	\$28,500.00	\$2,497.55	\$24,975.5
	2211	Furnish and install	vertical rect	10.00	Ψ2,000.00	Ψ20,000.00	Ψ2,137.00	ΨΣ1,57 0.0
		standard storm sewer						
		inlet manhole (6'						
		· ·						
	2215	diameter); complete as	Westing Free	12.00	#1 100 00	#14 200 00	¢1 107 05	#1F 440 0
	2215	specified Furnish and install storm	Vertical Feet	13.00	\$1,100.00	\$14,300.00	\$1,187.85	\$15,442.0
		sewer outlet structure;						
		Rural II Basin; complete						
	2226	as specified	Each	1.00	\$110,000.00	\$110,000.00	\$152,007.09	\$152,007.0
		Furnish and install Type 1						
		inlet; complete as						
	2236	specified	Each	1.00	\$4,300.00	\$4,300.00	\$4,393.30	\$4,393.3

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
,	, -							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
514 opening. 00/20/2020 0	1							
	_				David Tenor	Corneration	Integrity Grading a	nd Everyating Inc
					David Tellor	Corporation	integrity Grading a	nu Excavating, mc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Furnish and install	COLIVI	Qualitity	Chit i nee	Extension	OmtTite	Extension
		WDOT Inlet Median 1						
	2240	grate; complete as	T. d.	2.00	¢4.650.00	#0.200.00	#4.214.01	#0.420.62
	2240	specified Furnish and install	Each	2.00	\$4,650.00	\$9,300.00	\$4,214.81	\$8,429.62
		WDOT Inlet Median 2						
	22.44	grate; complete as		2.00	4= 000 00	445 500 00	0= =44 =4	047 404 (0
	2241	specified	Each	3.00	\$5,900.00	\$17,700.00	\$5,711.56	\$17,134.68
		Furnish; install; maintain;						
		and remove Type A inlet						
		protection; complete as						
	2500	specified	Each	7.00	\$155.00	\$1,085.00	\$135.00	\$945.00
		Furnish; install; maintain;						
		and remove Type D inlet						
		protection; complete as						
	2506	specified	Each	4.00	\$205.00	\$820.00	\$135.00	\$540.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$985.00	\$3,940.00	\$1,000.00	\$4,000.00
		Furnish; install; maintain;						
		and remove silt fence;						
	2514	complete as specified	Linear Feet	9,050.00	\$2.05	\$18,552.50	\$2.00	\$18,100.00
		Furnish; install; maintain;						
		and remove ditch check;						
	2522	complete as specified	Each	74.00	\$155.00	\$11,470.00	\$82.00	\$6,068.00
		Furnish and install rock						
		dam; complete as						
	2527	specified	Linear Feet	275.00	\$25.40	\$6,985.00	\$70.00	\$19,250.00
		Install salvaged topsoil 6"						
		depth; complete as						
	2603	specified	Lump Sum	1.00	\$360,880.00	\$360,880.00	\$567,675.90	\$567,675.90
		Furnish and install native						
		seeding; floodplain mix;						
	2610	complete as specified	Square Yards	114,000.00	\$0.90	\$102,600.00	\$0.75	\$85,500.00
		Furnish and install native						
		seeding; mesic mix;						
	2612	complete as specified	Square Yards	103,000.00	\$0.90	\$92,700.00	\$0.67	\$69,010.00
		Furnish and install turf						
		grass; complete as						
	2620	specified	Square Yards	7,500.00	\$1.25	\$9,375.00	\$0.76	\$5,700.00

Contract 23-16 - Sawyer Cree	k Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City of	f							
Solicitor: Oshkosh WI, City								
, , ,								
Bid Opening: 08/28/2023 02:	00 PM CDT							
Dia Opening. 00/20/2020 02:	OUT IN CEL							
					David Tanor	Corporation	Integrity Grading a	nd Everystine Inc
					David Tellol	Corporation	integrity Graunig a	nu excavating, mc.
C c mid	71 6 1	T D ' '	11.01	0 "	TI '- D '	F	77 's D '	F
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install no-						
		mow fescue; complete as						
	2622	specified	Square Yards	150,000.00	\$0.85	\$127,500.00	\$0.64	\$96,000.00
		Furnish and install						
		annual cover crop;						
	2624	complete as specified	Square Yards	680,000.00	\$0.11	\$74,800.00	\$0.11	\$74,800.00
		Furnish and install Class						
		II; Type B erosion control						
		mat; complete as						
	2634	specified	Square Yards	35,000.00	\$2.08	\$72,800.00	\$1.80	\$63,000.0
		Furnish and install turf	- 4			4/	4.5000	400,00000
		reinforcement mat						
		system; complete as						
	2629		Carrana Vanda	2 020 00	\$15.38	¢60.442.40	\$19.35	¢76 045 E
	2638	specified Furnish and install	Square Yards	3,930.00	\$15.38	\$60,443.40	\$19.35	\$76,045.5
		medium rip-rap with						
		filter fabric; complete as						
	2648	specified	Square Yards	350.00	\$56.50	\$19,775.00	\$68.32	\$23,912.0
		Install articulated						
		concrete block mat						
		(ACBM) revetment						
		system; complete as						
	2659	specified	Square Yards	2,100.00	\$205.00	\$430,500.00	\$120.17	\$252,357.0
		Remove 30" and smaller	1			-		·
		storm sewer; complete as						
	2804	specified	Linear Feet	550.00	\$22.00	\$12,100.00	\$22.25	\$12,237.5
		Remove; salvage; and		223.00	\$ 22.00	ţ- <u>_</u> ,100100	721.20	4-2/207101
		relocate existing endwall;						
	2860	complete as specified	Each	2.00	\$2,000.00	\$4,000.00	\$1,295.62	\$2,591.2
	2000	Storm sewer utility line	Eacii	2.00	φ∠,000.00	φ±,000.00	ψ1,293.02	φ2,371.2
		-						
	2014	opening (ULO); complete	F. 1	20.00	#FFC 00	#15 000 00	#440.04	#0.000.0
	2914	as specified	Each	20.00	\$750.00	\$15,000.00	\$449.94	\$8,998.8
		Clear and grub; Zone A;						
	2915	complete as specified	Lump Sum	1.00	\$7,950.00	\$7,950.00	\$25,000.00	\$25,000.0
		Clear and grub; Zone B;						
	2916	complete as specified	Lump Sum	1.00	\$70,500.00	\$70,500.00	\$35,000.00	\$35,000.0
		Construct clay liner;		Ι Τ	,			
	2934	complete as specified	Lump Sum	1.00	\$15,000.00	\$15,000.00	\$144,063.85	\$144,063.85
		General excavation; Rural	-					
		II Detention Basin;						
	2935	complete as specified	Lump Sum	1.00	\$4,790,000.00	\$4,790,000.00	\$4,593,336.86	\$4,593,336.86

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
· · · · · · · · · · · · · · · · · · ·								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
					David Tenor Co	orporation	Integrity Grading and	Excavating, Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Helli Code	General excavation; Clark-	COLIVI	Qualitity	Ollit Frice	Extension	Offit Frice	Extension
		Hill Detention Basin;						
	2026		I C	1.00	#40C 000 00	#40C 000 00	¢451 112 01	¢4E1 112 0
	2936	complete as specified Furnish and install 8"	Lump Sum	1.00	\$406,000.00	\$406,000.00	\$451,113.81	\$451,113.8
	2020	sanitary sewer (new);		4.65	***	# P 04 F 00 00	404.04	04550445
	3030	complete as specified Furnish and install 12"	Linear Feet	1,667.00	\$124.00	\$206,708.00	\$94.34	\$157,264.73
		sanitary sewer (new);			****			
	3034	complete as specified Furnish and install 15"	Linear Feet	1,920.00	\$148.00	\$284,160.00	\$82.70	\$158,784.0
		sanitary sewer (new);						
	3036	complete as specified	Linear Feet	1,487.00	\$214.00	\$318,218.00	\$176.59	\$262,589.3
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	6.19	\$540.00	\$3,342.60	\$443.07	\$2,742.6
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	270.00	\$555.00	\$149,850.00	\$441.20	\$119,124.0
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	17.00	\$430.00	\$7,310.00	\$653.48	\$11,109.1
		Furnish and install 8" x 4"						
		sanitary sewer factory						
		wyes or tees; complete as						
	3200	specified	Each	6.00	\$210.00	\$1,260.00	\$109.71	\$658.2
		Furnish and install 15" x						
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3206	specified	Each	6.00	\$285.00	\$1,710.00	\$915.45	\$5,492.7
		Furnish and install 15" x						
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3216	specified	Each	1.00	\$310.00	\$310.00	\$1,057.84	\$1,057.8
		Furnish and install 4"						
		sanitary sewer laterals						
		(new); complete as						
	3230	specified	Linear Feet	386.00	\$99.00	\$38,214.00	\$58.23	\$22,476.7

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
,,	, -							
3id Opening: 08/28/2023 02	2:00 PM CDT							
714 opening. 00/20/2020 02	100 1101 02 1							
					David Tenor (Corporation	Integrity Grading and	d Excavating, Inc.
					Davia Tenor	corporation		a zacavating, mer
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"		2			5 - 111 5 - 151 5	
		sanitary sewer laterals						
		(new); complete as						
	2022		Times Test	22.00	¢104.00	#2 229 00	#47.F2	#2 1(0 O
	3232	specified Furnish and install	Linear Feet	32.00	\$104.00	\$3,328.00	\$67.53	\$2,160.90
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	13.00	\$35.00	\$455.00	\$33.76	\$438.88
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	1.00	\$1,900.00	\$1,900.00	\$5,715.15	\$5,715.1
		Core into existing						
		manhole; complete as						
	3332	specified	Each	1.00	\$2,400.00	\$2,400.00	\$4,142.97	\$4,142.97
		Furnish and install 12"			, ,	, , , , , ,	* /	
		sanitary sewer open cut						
		casing pipes; complete as						
	3406	specified	Linear Feet	56.00	\$175.00	\$9,800.00	\$302.16	\$16,920.9
	3400	Furnish and install 24"	Linear reet	30.00	\$175.00	\$2,800.00	\$302.10	\$10,720.70
		sanitary sewer open cut						
		, ,						
		casing pipes; complete as						±.=
	3412	specified	Linear Feet	33.00	\$295.00	\$9,735.00	\$528.49	\$17,440.1
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	5,074.00	\$1.62	\$8,219.88	\$1.58	\$8,016.9
		Furnish 8" sanitary sewer						
		air pressure test;						
	3935	complete as specified	Each	5.00	\$175.00	\$875.00	\$164.97	\$824.8
		Furnish 12" sanitary						
		sewer air pressure test;						
	3939	complete as specified	Each	5.00	\$260.00	\$1,300.00	\$249.97	\$1,249.8
		Furnish 15" sanitary						
		sewer air pressure test;						
	3941	complete as specified	Each	5.00	\$295.00	\$1,475.00	\$284.97	\$1,424.8
	J, 11	Furnish and install new 6"		3.50	Ψ2,0.00	Ψ1,1,0.00	Q201177	Ψ1/121.00
		ductile iron water main						
		with polywrap; complete						
	4020		Linear Foot	116.00	¢0E 00	¢0 940 00	¢112.60	¢12 100 0
	4020	as specified	Linear Feet	116.00	\$85.00	\$9,860.00	\$113.69	\$13,188.0

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ıral II Detention Basin - Cor	struction (#86089	57)				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 08/28/2023 02:	:00 PM CDT							
					David Tenor Co	ornoration	Integrity Grading and	Excavating Inc.
					Duviu Tenor ex	orporation	integrity oraning and	2. Zien viering, inter
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install new						
		10" ductile iron water						
		main with polywrap;						
	4024	complete as specified	Linear Feet	1,925.00	\$110.00	\$211,750.00	\$94.37	\$181,662.25
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	437.00	\$67.00	\$29,279.00	\$51.77	\$22,623.49
		Furnish and install 2"						
		water service (new);						
	4046	complete as specified	Linear Feet	11.00	\$74.00	\$814.00	\$138.71	\$1,525.81
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	12.00	\$415.00	\$4,980.00	\$390.30	\$4,683.60
		Furnish and install 2"						
		corporation and stop box;						
	4053	complete as specified	Each	1.00	\$1,300.00	\$1,300.00	\$1,163.52	\$1,163.52
		Furnish and install			. ,	. ,	• /	· ,
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	7.00	\$2,400.00	\$16,800.00	\$303.80	\$2,126.60
		Furnish and install			, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	1.00	\$2,900.00	\$2,900.00	\$6,243.63	\$6,243.63
		Furnish and install 10" x			4=// *****	4-/	40,23000	4-0/=
		6" water main tee;						
	4119	complete as specified	Each	4.00	\$1,080.00	\$4,320.00	\$853.39	\$3,413.56
	1117	Furnish and install 10" x		1.00	Ψ1,000.00	ψ 1/0±0.00	4000.09	ψ5,110.00
		10" water main tee;						
	4121	complete as specified	Each	1.00	\$1,350.00	\$1,350.00	\$1,071.74	\$1,071.74
		Furnish and install 10"			4-,5-5100	4-,220,000	¥-,*· 11/ 1	4-/0/11/
		water main plug;						
	4310	complete as specified	Each	2.00	\$300.00	\$600.00	\$1,148.20	\$2,296.40
	1010	Furnish and install 6"	- Lucii	2.00	φοσσ.σο	400.00	Ψ1/110120	Ψ=,270.10
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$1,900.00	\$7,600.00	\$1,028.50	\$4,114.0
	4401	Furnish and install 10"	Latt	4.00	φ1,200.00	φ1,000.00	φ1,020.00	φ4,114.00
		water main gate valve;						
	4403	complete as specified	Each	5.00	\$3,720.00	\$18,600.00	\$3,687.83	\$18,439.15

Contract 23-16 - Sawyer Cree	k Watershed Ru	ıral II Detention Basin - Con	struction (#860895	57)				
Owner: Oshkosh WI, City o	f							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 08/28/2023 02:	00 PM CDT							
					David Tenor C	orporation	Integrity Grading a	nd Excavating, Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install valve						
		box replacement;						
	4490	complete as specified	Each	7.00	\$750.00	\$5,250.00	\$390.30	\$2,732.10
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	4.00	\$5,400.00	\$21,600.00	\$6,218.17	\$24,872.68
		Relocate existing hydrant;						
	4501	complete as specified	Each	7.00	\$2,500.00	\$17,500.00	\$2,907.68	\$20,353.76
		Furnish and install 6"						
		water main casing pipe;						
	4716	complete as specified	Linear Feet	56.00	\$150.00	\$8,400.00	\$239.50	\$13,412.00
Section 2: Alternate 1 (Awar	rded)					\$172,000.00		\$430,000.00
		Compaction of southern						
		20 acres of Clark-Hill Fill						
		Site; complete as						
	2956-1	specified	Lump Sum	1.00	\$172,000.00	\$172,000.00	\$430,000.00	\$430,000.00
Section 3: Alternate 2 (Awar	rded)					\$516,400.00		\$1,290,000.00
		Compaction of northern						
		60 acres of Clark-Hill Fill						
		Site; complete as						
	2958-2	specified	Lump Sum	1.00	\$516,400.00	\$516,400.00	\$1,290,000.00	\$1,290,000.00
Section 4: Alternate 3 (Awar	rded)					\$47,175.00		\$0.01
		Temporary paving of						
		Clairville Road; complete						
	2960-3	as specified	Lump Sum	1.00	\$47,175.00	\$47,175.00	\$0.01	\$0.01
Bid Total:				<u> </u>		\$12,000,164.15		\$12,886,075.66

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
,								
Bid Opening: 08/28/2023 0	2:00 PM CDT							
9								
					Advance Const	truction Inc.	Vinton Constru	ction Company
				† †				<u>r</u> . ,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid						\$11,821,298.74		\$11,187,257.85
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$1,350,000.00	\$1,350,000.00	\$585,000.00	\$585,000.00
		Removing pavement;						
	1100	complete as specified	Square Yards	8,420.00	\$2.10	\$17,682.00	\$2.45	\$20,629.00
		Removing curb and						
		gutter; complete as						
	1110	specified	Linear Feet	200.00	\$5.00	\$1,000.00	\$5.00	\$1,000.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	4,840.00	\$1.00	\$4,840.00	\$0.80	\$3,872.00
		Unclassified excavation;						
	1200	complete as specified	Cubic Yards	9,620.00	\$10.50	\$101,010.00	\$8.55	\$82,251.00
		Ground stabilization						
		fabric; complete as						
	1230	specified	Square Yards	6,060.00	\$3.50	\$21,210.00	\$1.50	\$9,090.00
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	34.00	\$650.00	\$22,100.00	\$400.00	\$13,600.00
		Restore gravel						
		driveway/apron;						
	1372	complete as specified	Square Yards	110.00	\$16.00	\$1,760.00	\$16.00	\$1,760.00
		30" curb and gutter; 8";						
	1444	complete as specified	Linear Feet	100.00	\$95.00	\$9,500.00	\$65.00	\$6,500.00
		36" mountable curb and						
		gutter; 8"; complete as						
	1451	specified	Linear Feet	100.00	\$95.00	\$9,500.00	\$65.00	\$6,500.00
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	16.00	\$40.00	\$640.00	\$40.00	\$640.00
		Replace section corner;						
	1651	complete as specified	Each	1.00	\$650.00	\$650.00	\$650.00	\$650.00
		Replace existing property		1				
		monuments; complete as						
	1652	specified	Each	7.00	\$85.00	\$595.00	\$85.00	\$595.00
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	400.00	\$4.00	\$1,600.00	\$3.50	\$1,400.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit								
,	7 -							
Bid Opening: 08/28/2023 0	2:00 PM CDT							
ота орения. 00/20/2020 од	2.00 1101 CD 1							
					Advance Con	struction Inc	Vinton Constru	ction Company
					Auvance Con	istruction mc.	Vilitori Constru	ction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	Base aggregate dense;	COLIVI	Qualitity	Onit i rice	Extension	Outrice	Extension
		3/4"; complete as						
	1000	specified	Т	710.00	#2F 20	¢17,002,00	#20 14	¢10.070.4
	1800	Base aggregate dense; 1-	Tons	710.00	\$25.20	\$17,892.00	\$28.14	\$19,979.4
	1001	1/4"; complete as	T	0.600.00	#10.00	#02 F40 00	#14.0F	#120 020 0
	1801	specified	Tons	8,600.00	\$10.90	\$93,740.00	\$14.05	\$120,830.0
	1000	Base aggregate dense; 3";		4.000.00	#40.00	#46.494.00	#40.25	070.040.6
	1802	complete as specified	Tons	4,260.00	\$10.90	\$46,434.00	\$18.36	\$78,213.6
	1000	Tack coat; complete as	0.11	250.00	42.00	# # 00.00	#2.02	4505 5
	1900	specified HMA Pavement LT;	Gallons	250.00	\$2.80	\$700.00	\$2.83	\$707.5
	4004	1		200.00	44=4.00	#49 (00 00	04====	044444
	1901	complete as specified	Tons	280.00	\$156.00	\$43,680.00	\$157.56	\$44,116.8
	1000	HMA Pavement MT;		2 (=2 00		4004.054.00	# # < 0.5	4202.052.5
	1902	complete as specified	Tons	2,670.00	\$75.30	\$201,051.00	\$76.05	\$203,053.5
		Asphalt flume; complete						
	1935	as specified	Square Yards	30.00	\$58.00	\$1,740.00	\$58.50	\$1,755.00
		Prepare foundation for						
		asphaltic paving;						
	1960	complete as specified	Lump Sum	1.00	\$18,960.00	\$18,960.00	\$19,150.00	\$19,150.0
		Pavement markings;						
		epoxy; 4" (white);						
	1974	complete as specified	Linear Feet	6,000.00	\$0.75	\$4,500.00	\$0.75	\$4,500.0
		Pavement markings;						
		epoxy; 4" (yellow);						
	1975	complete as specified	Linear Feet	2,500.00	\$0.75	\$1,875.00	\$0.75	\$1,875.0
		Pavement markings; stop-						
		line epoxy; 18" (white);						
	1978	complete as specified	Linear Feet	17.00	\$14.00	\$238.00	\$14.00	\$238.0
		Furnish and install woven						
		wire fencing; complete as						
	1990	specified	Linear Feet	6,840.00	\$9.00	\$61,560.00	\$5.25	\$35,910.0
		Furnish and install high						
		tensile fencing; complete						
	1991	as specified	Linear Feet	75.00	\$75.00	\$5,625.00	\$6.00	\$450.0
		Furnish and install		\Box				
		double leaf gate;						
	1992	complete as specified	Each	2.00	\$6,000.00	\$12,000.00	\$2,600.00	\$5,200.0
		Furnish and install 12"						
		RCP Class III storm						
		sewer; complete as						
	2004	specified	Linear Feet	34.00	\$108.00	\$3,672.00	\$80.00	\$2,720.0

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
1 0								
					Advance Const	truction Inc.	Vinton Constru	ction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 24"		~~~~				
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	122.00	\$135.00	\$16,470.00	\$105.00	\$12,810.00
	2010	Furnish and install 30"	Efficial Teet	122.00	Ψ100.00	\$10)17 0.000	Ψ100.00	\$12/010.00
		RCP Class III storm						
		sewer; complete as						
	2022	specified	Linear Feet	29.00	\$182.00	\$5,278.00	\$147.00	\$4,263.00
		Furnish and install 36"			,	,,,	,	, ,
		RCP Class III storm						
		sewer; complete as						
	2025	specified	Linear Feet	358.00	\$216.00	\$77,328.00	\$162.00	\$57,996.00
		Furnish and install 48"				·		·
		RCP Class III storm						
		sewer; complete as						
	2031	specified	Linear Feet	1,026.00	\$267.50	\$274,455.00	\$207.00	\$212,382.00
		Furnish and install 14" x						
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	304.00	\$138.00	\$41,952.00	\$102.00	\$31,008.00
		Furnish and install 19" x						
		30" HERCP Class III						
		storm sewer; complete as						
	2047	specified	Linear Feet	344.00	\$152.00	\$52,288.00	\$113.00	\$38,872.00
		Furnish and install 4' x 6'						
		box culvert storm sewer;						
	2072	complete as specified	Linear Feet	1,449.00	\$840.00	\$1,217,160.00	\$715.00	\$1,036,035.00
		Furnish and install 4'						
		diameter manhole riser						
		on 4' x 6' box culvert;						
	2113	complete as specified	Vertical Feet	13.00	\$700.00	\$9,100.00	\$790.00	\$10,270.00
		Furnish and install 24"						
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	2.00	\$1,360.00	\$2,720.00	\$1,198.00	\$2,396.00
		Furnish and install 36"						
		RCP Class III apron						
		endwall with joint ties;						
	2147	complete as specified	Each	2.00	\$2,150.00	\$4,300.00	\$1,879.00	\$3,758.00

Contract 23-16 - Sawyer Cro	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
1 0								
					Advance Constr	uction Inc.	Vinton Construction	on Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 48"		2				
		RCP Class III apron						
		endwall with joint ties;						
	2149	-	Each	5.00	\$3,300.00	\$16,500.00	\$3,200.00	\$16,000.0
	2149	complete as specified Furnish and install 14" x	Eacii	5.00	\$3,300.00	\$18,300.00	\$3,200.00	\$10,000.00
		23" RCP Class III apron						
		-						
	2454	endwall with joint ties;		20.00	44.200.00	*** * * * * * * * * * * * * * * * * *	400=00	#40.000.0
	2154	complete as specified Furnish and install 19" x	Each	20.00	\$1,200.00	\$24,000.00	\$995.00	\$19,900.0
		30" RCP Class III apron						
		endwall with joint ties;						
	2155	complete as specified	Each	20.00	\$1,320.00	\$26,400.00	\$1,162.00	\$23,240.0
		Furnish and install 4' x 6'						
		box culvert end section						
		with joint ties; complete						
	2171	as specified	Each	1.00	\$10,000.00	\$10,000.00	\$10,739.00	\$10,739.00
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	11.00	\$931.00	\$10,241.00	\$857.00	\$9,427.0
		Furnish and install			· ·		·	
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	9.00	\$1,800.00	\$16,200.00	\$1,576.00	\$14,184.0
	2200	Furnish and install	verticui i cet	7.00	\$1,000.00	\$10,200.00	ψ1,57 0.00	ψ11,101.0
		standard storm sewer						
		manhole (8' x 8' box);						
	2211	complete as specified	Vertical Feet	10.00	\$2,752.00	\$27,520.00	\$2,454.00	\$24,540.0
	2211	Furnish and install	vertical reet	10.00	\$2,732.00	\$27,320.00	\$2,434.00	\$24,340.00
		standard storm sewer						
		inlet manhole (6'						
		diameter); complete as						
	2215	specified	Vertical Feet	13.00	\$1,400.00	\$18,200.00	\$1,145.00	\$14,885.0
		Furnish and install storm						
		sewer outlet structure;						
		Rural II Basin; complete						
	2226	as specified	Each	1.00	\$180,000.00	\$180,000.00	\$166,000.00	\$166,000.00
<u> </u>		Furnish and install Type 1	·					
		inlet; complete as						
	2236	specified	Each	1.00	\$2,900.00	\$2,900.00	\$3,027.00	\$3,027.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
,	, -							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
514 opening. 00/20/2020 0	1							
	_				Advance Con	struction Inc	Vinton Constru	ction Company
					Auvance Con	struction me.	VIIItori Constru	ction Company
Section Title	Item Code	Itam Decemention	UofM	Owantitu	Unit Price	Eutomolon	Unit Price	Extension
Section Title	Item Code	Item Description Furnish and install	COIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		WDOT Inlet Median 1						
	22.40	grate; complete as		2.00	#1.120.00	40.240.00	42.202.00	# C = 0.4.00
	2240	specified	Each	2.00	\$4,130.00	\$8,260.00	\$3,292.00	\$6,584.00
		Furnish and install						
		WDOT Inlet Median 2						
		grate; complete as						
	2241	specified	Each	3.00	\$6,790.00	\$20,370.00	\$5,523.00	\$16,569.00
		Furnish; install; maintain;						
		and remove Type A inlet						
		protection; complete as						
	2500	specified	Each	7.00	\$150.00	\$1,050.00	\$135.00	\$945.00
		Furnish; install; maintain;						
		and remove Type D inlet						
		protection; complete as						
	2506	specified	Each	4.00	\$200.00	\$800.00	\$135.00	\$540.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$600.00	\$2,400.00	\$0.01	\$0.04
		Furnish; install; maintain;						
		and remove silt fence;						
	2514	complete as specified	Linear Feet	9,050.00	\$2.00	\$18,100.00	\$2.00	\$18,100.00
		Furnish; install; maintain;		,	•	,	·	· ,
		and remove ditch check;						
	2522	complete as specified	Each	74.00	\$150.00	\$11,100.00	\$82.00	\$6,068.00
		Furnish and install rock			,	,	***	, ,, , , , , , ,
		dam; complete as						
	2527	specified	Linear Feet	275.00	\$32.00	\$8,800.00	\$70.00	\$19,250.00
		Install salvaged topsoil 6"			40-100	40,000.00	4.000	4-1/
		depth; complete as						
	2603	specified	Lump Sum	1.00	\$336,400.00	\$336,400.00	\$605,000.00	\$605,000.00
	2003	Furnish and install native	Lump Jum	1.00	ψοσο, που. 00	ψοσο, που. 00	φουσ,ουσ.ου	ψουσ,000.00
		seeding; floodplain mix;						
	2610	complete as specified	Square Yards	114,000.00	\$0.88	\$100,320.00	\$0.75	\$85,500.00
	2010	Furnish and install native	oquare rarus	114,000.00	Φ0.88	\$100,320.00	Φ0./5	00,000,000
	2/12	seeding; mesic mix;	Causana V - :: 1 -	102 000 00	#0.00	#00 C40 00	#0. CF	#C0.010.00
	2612	complete as specified Furnish and install turf	Square Yards	103,000.00	\$0.88	\$90,640.00	\$0.67	\$69,010.00
	2620	grass; complete as	6 Y 1	F 500 00	44.00	#0.000.00	*0 = 2	dE =00.00
	2620	specified	Square Yards	7,500.00	\$1.20	\$9,000.00	\$0.76	\$5,700.00

Contract 23-16 - Sawyer Cro	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
3								
					Advance Con	struction Inc.	Vinton Constru	ction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install no-		,				
		mow fescue; complete as						
	2622	specified	Square Yards	150,000.00	\$0.83	\$124,500.00	\$0.64	\$96,000.00
	2022	Furnish and install	Square raras	150,000.00	ψ0.00	\$121,000.00	ψ0.01	ψ, ο, ο ο ο ο ο ο ο ο ο ο ο ο ο ο ο ο ο
		annual cover crop;						
	2624	complete as specified	Square Yards	680,000.00	\$0.10	\$68,000.00	\$0.11	\$74,800.00
	2021	Furnish and install Class	Square rarus	000,000.00	ψ0.10	ψου,ουσ.ου	ψ0.11	ψ/ 1,000.00
		II; Type B erosion control						
		mat; complete as						
	2634	specified	Square Yards	35,000.00	\$2.05	\$71,750.00	\$1.80	\$63,000.00
	2034	Furnish and install turf	Square rarus	33,000.00	Ψ2.03	ψ/1,/30.00	ψ1.00	φοσ,σοσ.σο
		reinforcement mat						
		system; complete as						
	2638	specified	Square Yards	3,930.00	\$15.00	\$58,950.00	\$18.50	\$72,705.00
	2030	Furnish and install	Square rarus	3,930.00	\$15.00	\$38,330.00	\$16.50	\$72,700.00
		medium rip-rap with						
		filter fabric; complete as						
	2648	specified	Carrana Vanda	350.00	\$55.00	\$19,250.00	\$38.72	\$13,552.00
	2040	Install articulated	Square Yards	330.00	\$30.00	\$19,230.00	Ф30.72	\$13,332.00
		concrete block mat						
		(ACBM) revetment						
		i i						
	2650	system; complete as	6 V I	2 100 00	#100.00	#41F 000 00	#20F 00	#400 500 00
	2659	specified Remove 30" and smaller	Square Yards	2,100.00	\$199.00	\$417,900.00	\$205.00	\$430,500.00
	2004	storm sewer; complete as	T. F.	550.00	#24.00	#12 200 00	#1F 00	#0. 25 0.00
	2804	specified	Linear Feet	550.00	\$24.00	\$13,200.00	\$15.00	\$8,250.00
		Remove; salvage; and						
	2000	relocate existing endwall;	г. 1		#000.00	#1 (00.00	#1 0 = 0 00	#0 440 00
	2860	complete as specified	Each	2.00	\$800.00	\$1,600.00	\$1,070.00	\$2,140.00
		Storm sewer utility line						
	2014	opening (ULO); complete		20.00	2640.00	#12 000 00	4450.00	40.000.00
	2914	as specified	Each	20.00	\$640.00	\$12,800.00	\$450.00	\$9,000.00
		Clear and grub; Zone A;						
	2915	complete as specified	Lump Sum	1.00	\$7,750.00	\$7,750.00	\$35,000.00	\$35,000.00
		Clear and grub; Zone B;						
	2916	complete as specified	Lump Sum	1.00	\$68,750.00	\$68,750.00	\$25,000.00	\$25,000.00
		Construct clay liner;						
	2934	complete as specified	Lump Sum	1.00	\$18,200.00	\$18,200.00	\$0.01	\$0.01
		General excavation; Rural						
		II Detention Basin;						
	2935	complete as specified	Lump Sum	1.00	\$4,084,000.00	\$4,084,000.00	\$4,600,000.00	\$4,600,000.00

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
· · ·								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
514 opening. 00/20/2020 01	1111 021							
					Advance Constr	ruction Inc	Vinton Construc	tion Company
					Auvance consti	ruction inc.	Vinton Construc	tion company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		General excavation; Clark-						
		Hill Detention Basin;						
	2936	complete as specified	Lump Sum	1.00	\$566,000.00	\$566,000.00	\$550,000.00	\$550,000.00
		Furnish and install 8"	•					
		sanitary sewer (new);						
	3030	complete as specified	Linear Feet	1,667.00	\$155.00	\$258,385.00	\$165.00	\$275,055.00
		Furnish and install 12"		· ·	·	. ,	·	
		sanitary sewer (new);						
	3034	complete as specified	Linear Feet	1,920.00	\$178.00	\$341,760.00	\$82.00	\$157,440.00
	-	Furnish and install 15"		-,,	73.000	40-27-00-00	40-100	4-01/0101
		sanitary sewer (new);						
	3036	complete as specified	Linear Feet	1,487.00	\$266.00	\$395,542.00	\$270.00	\$401,490.00
	5050	Furnish and install 8"	Ellicar rect	1,107.00	Ψ200.00	φονο,ο 12.00	Ψ27 0.00	ψ101,170.00
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	6.19	\$650.00	\$4,023.50	\$700.00	\$4,333.00
	3000	Furnish and install	vertical reet	0.15	\$650.00	\$4,023.30	\$700.00	φ4,303.00
		standard sanitary sewer						
		manhole (4' diameter);						
	2100	complete as specified	Mantianl Fact	270.00	\$470.00	#124 000 00	\$355.00	¢05.050.00
	3100	Furnish and install	Vertical Feet	270.00	\$470.00	\$126,900.00	\$355.00	\$95,850.00
		sanitary sewer external						
	2444	manhole chimney seal;		47.00	450.00	********	4554.00	40.440.0
	3114	complete as specified	Each	17.00	\$520.00	\$8,840.00	\$554.00	\$9,418.00
		Furnish and install 8" x 4"						
		sanitary sewer factory						
		wyes or tees; complete as						
	3200	specified	Each	6.00	\$105.00	\$630.00	\$123.00	\$738.00
		Furnish and install 15" x						
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3206	specified	Each	6.00	\$166.00	\$996.00	\$500.00	\$3,000.0
		Furnish and install 15" x						
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3216	specified	Each	1.00	\$200.00	\$200.00	\$835.00	\$835.0
		Furnish and install 4"						
		sanitary sewer laterals						
		(new); complete as						
	3230	specified	Linear Feet	386.00	\$150.00	\$57,900.00	\$125.00	\$48,250.00

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Coı	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
· · ·								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
- 1 - 0								
					Advance Cons	truction Inc.	Vinton Construc	tion Company
				1				,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	32.00	\$156.00	\$4,992.00	\$131.00	\$4,192.00
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	13.00	\$70.00	\$910.00	\$75.00	\$975.00
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	1.00	\$1,000.00	\$1,000.00	\$525.00	\$525.00
		Core into existing						
		manhole; complete as						
	3332	specified	Each	1.00	\$1,000.00	\$1,000.00	\$1,590.00	\$1,590.00
		Furnish and install 12"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3406	specified	Linear Feet	56.00	\$300.00	\$16,800.00	\$105.00	\$5,880.00
		Furnish and install 24"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3412	specified	Linear Feet	33.00	\$400.00	\$13,200.00	\$379.00	\$12,507.00
		Closed circuit televising;			·	. ,	·	
	3700	complete as specified	Linear Feet	5,074.00	\$1.76	\$8,930.24	\$2.00	\$10,148.00
		Furnish 8" sanitary sewer		,	,	.,	,	, .,
		air pressure test;						
	3935	complete as specified	Each	5.00	\$165.00	\$825.00	\$165.00	\$825.00
		Furnish 12" sanitary			,	,	, , , , , ,	40=0100
		sewer air pressure test;						
	3939	complete as specified	Each	5.00	\$250.00	\$1,250.00	\$250.00	\$1,250.00
	5,0,	Furnish 15" sanitary	Zuci.	2.00	Q200.00	\$1,200.00	\$200.00	Ψ1/200.00
		sewer air pressure test;						
	3941	complete as specified	Each	5.00	\$285.00	\$1,425.00	\$285.00	\$1,425.00
	5711	Furnish and install new 6"	Buch	3.00	Ψ203.00	ψ1,120.00	φ205.00	ψ1,420.00
		ductile iron water main						
		with polywrap; complete						
	4020	as specified	Linear Feet	116.00	\$155.00	\$17,980.00	\$112.00	\$12,992.00
	4020	as specified	Linear reet	116.00	\$155.00	\$17,980.00	\$112.00	\$12,992.0

Contract 23-16 - Sawyer Cre	eek Watershed Ru	ıral II Detention Basin - Cor	struction (#86089	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	v of							
· · ·								
Bid Opening: 08/28/2023 02	2:00 PM CDT							
o I O								
					Advance Constr	ruction Inc.	Vinton Constructi	on Company
					TARVANCE CONST		V Intern Construction	on company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install new						
		10" ductile iron water						
		main with polywrap;						
	4024	complete as specified	Linear Feet	1,925.00	\$93.00	\$179,025.00	\$99.40	\$191,345.00
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	437.00	\$77.00	\$33,649.00	\$67.00	\$29,279.00
		Furnish and install 2"						
		water service (new);						
	4046	complete as specified	Linear Feet	11.00	\$90.00	\$990.00	\$92.00	\$1,012.00
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	12.00	\$520.00	\$6,240.00	\$832.00	\$9,984.00
		Furnish and install 2"						
		corporation and stop box;						
	4053	complete as specified	Each	1.00	\$1,370.00	\$1,370.00	\$1,760.00	\$1,760.00
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	7.00	\$2,260.00	\$15,820.00	\$2,533.00	\$17,731.00
		Furnish and install						
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	1.00	\$2,900.00	\$2,900.00	\$1,865.00	\$1,865.00
		Furnish and install 10" x						
		6" water main tee;						
	4119	complete as specified	Each	4.00	\$1,025.00	\$4,100.00	\$1,028.00	\$4,112.00
		Furnish and install 10" x						
		10" water main tee;						
	4121	complete as specified	Each	1.00	\$1,230.00	\$1,230.00	\$1,234.00	\$1,234.00
		Furnish and install 10"				·	·	·
		water main plug;						
	4310	complete as specified	Each	2.00	\$410.00	\$820.00	\$420.00	\$840.00
		Furnish and install 6"						<u>`</u>
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$1,810.00	\$7,240.00	\$2,115.00	\$8,460.00
		Furnish and install 10"			4-,	4. /=00	4-,	4-7-20.00
		water main gate valve;						
	4403	complete as specified	Each	5.00	\$3,590.00	\$17,950.00	\$3,947.00	\$19,735.00

Contract 23-16 - Sawyer Cree	ek Watershed Ru	ıral II Detention Basin - Con	struction (#860895	57)				
Owner: Oshkosh WI, City o	f							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 08/28/2023 02:	00 PM CDT							
					Advance Const	truction Inc.	Vinton Constru	ction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install valve						
		box replacement;						
	4490	complete as specified	Each	7.00	\$900.00	\$6,300.00	\$1,150.00	\$8,050.00
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	4.00	\$5,600.00	\$22,400.00	\$5,939.00	\$23,756.00
		Relocate existing hydrant;						
	4501	complete as specified	Each	7.00	\$2,000.00	\$14,000.00	\$2,434.00	\$17,038.00
		Furnish and install 6"						
		water main casing pipe;						
	4716	complete as specified	Linear Feet	56.00	\$270.00	\$15,120.00	\$93.00	\$5,208.00
Section 2: Alternate 1 (Awa	rded)					\$233,000.00		\$405,000.00
		Compaction of southern						
		20 acres of Clark-Hill Fill						
		Site; complete as						
	2956-1	specified	Lump Sum	1.00	\$233,000.00	\$233,000.00	\$405,000.00	\$405,000.00
Section 3: Alternate 2 (Awa	rded)					\$758,000.00		\$1,325,000.00
		Compaction of northern						
		60 acres of Clark-Hill Fill						
		Site; complete as						
	2958-2	specified	Lump Sum	1.00	\$758,000.00	\$758,000.00	\$1,325,000.00	\$1,325,000.00
Section 4: Alternate 3 (Awa	rded)					\$123,000.00		\$111,039.00
		Temporary paving of						
		Clairville Road; complete						
	2960-3	as specified	Lump Sum	1.00	\$123,000.00	\$123,000.00	\$111,039.00	\$111,039.00
Bid Total:						\$12,935,298.74		\$13,028,296.85

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
'								
Bid Opening: 08/28/2023 0	2:00 PM CDT							
1 0								
					Veit & Comp	oany, Inc.	Carl Bowers & Son	ns Const. Co., Inc.
					r			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid						\$12,485,122.89		\$11,896,495.66
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$667,000.00	\$667,000.00	\$927,000.00	\$927,000.00
		Removing pavement;						
	1100	complete as specified	Square Yards	8,420.00	\$2.69	\$22,649.80	\$1.37	\$11,535.40
		Removing curb and						
		gutter; complete as						
	1110	specified	Linear Feet	200.00	\$5.34	\$1,068.00	\$5.85	\$1,170.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	4,840.00	\$0.44	\$2,129.60	\$0.26	\$1,258.40
		Unclassified excavation;	•					
	1200	complete as specified	Cubic Yards	9,620.00	\$6.16	\$59,259.20	\$6.22	\$59,836.40
		Ground stabilization						
		fabric; complete as						
	1230	specified	Square Yards	6,060.00	\$1.64	\$9,938.40	\$0.97	\$5,878.20
		Adjust manholes and	1					•
		inlets; complete as						
	1360	specified	Each	34.00	\$661.52	\$22,491.68	\$500.00	\$17,000.00
		Restore gravel			***	, , , , , , , ,	,	, ,
		driveway/apron;						
	1372	complete as specified	Square Yards	110.00	\$5.03	\$553.30	\$15.37	\$1,690.70
		30" curb and gutter; 8";	-1			,	,	, , ,
	1444	complete as specified	Linear Feet	100.00	\$102.25	\$10,225.00	\$95.00	\$9,500.00
		36" mountable curb and			* * * * * * * * * * * * * * * * * * * *	, ,	******	1.7
		gutter; 8"; complete as						
	1451	specified	Linear Feet	100.00	\$102.25	\$10,225.00	\$95.00	\$9,500.00
		Locate existing property			422	4-0)==000	4,0,00	4.7
		monuments; complete as						
	1650	specified	Each	16.00	\$220.65	\$3,530.40	\$40.00	\$640.00
	1000	Replace section corner;	Lucii	10.00	Ψ220.00	ψο,οσο.10	ψ10.00	φοτο.υς
	1651	complete as specified	Each	1.00	\$538.17	\$538.17	\$650.00	\$650.00
	1001	Replace existing property	Lucii	1.00	φοσο.17	φ550.17	ψ000.00	φοσο.ος
		monuments; complete as						
	1652	specified	Each	7.00	\$26.91	\$188.37	\$85.00	\$595.00
	1002	Sawing existing	Lacii	7.00	φ20.91	φ100.37	φου.00	φυ90.00
		pavement; complete as						
	1700	specified	Linear Feet	400.00	\$4.28	\$1,712.00	\$3.00	\$1,200.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ral II Detention Basin - Cor	struction (#860895	57)				
Owner: Oshkosh WI, City				ľ				
olicitor: Oshkosh WI, Cit								
	,			1				
id Opening: 08/28/2023 0	2:00 PM CDT							
					Veit & Con	npany, Inc.	Carl Bowers & Son	s Const. Co., Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Base aggregate dense;						
		3/4"; complete as						
	1800	specified	Tons	710.00	\$21.59	\$15,328.90	\$19.43	\$13,795.3
		Base aggregate dense; 1-						
		1/4"; complete as						
	1801	specified	Tons	8,600.00	\$16.93	\$145,598.00	\$14.30	\$122,980.0
		Base aggregate dense; 3";						
	1802	complete as specified	Tons	4,260.00	\$17.62	\$75,061.20	\$16.83	\$71,695.8
		Tack coat; complete as						
	1900	specified	Gallons	250.00	\$3.01	\$752.50	\$2.80	\$700.0
		HMA Pavement LT;						
	1901	complete as specified	Tons	280.00	\$167.91	\$47,014.80	\$156.00	\$43,680.0
		HMA Pavement MT;						
	1902	complete as specified	Tons	2,670.00	\$81.05	\$216,403.50	\$75.30	\$201,051.0
		Asphalt flume; complete						
	1935	as specified	Square Yards	30.00	\$62.43	\$1,872.90	\$58.00	\$1,740.0
		Prepare foundation for						
		asphaltic paving;						
	1960	complete as specified	Lump Sum	1.00	\$20,407.42	\$20,407.42	\$19,000.00	\$19,000.0
		Pavement markings;						
		epoxy; 4" (white);						
	1974	complete as specified	Linear Feet	6,000.00	\$0.81	\$4,860.00	\$0.75	\$4,500.0
		Pavement markings;						
		epoxy; 4" (yellow);						
	1975	complete as specified	Linear Feet	2,500.00	\$0.81	\$2,025.00	\$0.75	\$1,875.0
		Pavement markings; stop-						
		line epoxy; 18" (white);						
	1978	complete as specified	Linear Feet	17.00	\$15.07	\$256.19	\$14.00	\$238.0
		Furnish and install woven						
		wire fencing; complete as						
	1990	specified	Linear Feet	6,840.00	\$5.65	\$38,646.00	\$9.00	\$61,560.0
		Furnish and install high						
		tensile fencing; complete						
	1991	as specified	Linear Feet	75.00	\$6.46	\$484.50	\$75.00	\$5,625.0
		Furnish and install						
		double leaf gate;	_					
	1992	complete as specified	Each	2.00	\$2,798.49	\$5,596.98	\$6,000.00	\$12,000.0
		Furnish and install 12"						
		RCP Class III storm						
		sewer; complete as						
	2004	specified	Linear Feet	34.00	\$81.55	\$2,772.70	\$106.00	\$3,604.0

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	7 of							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
- 1 - 0								
					Veit & Com	pany, Inc.	Carl Bowers & Son	ns Const. Co., Inc.
						F		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Furnish and install 24"	001111	Quantity	CHR THEE	Extension	ChitTitee	Extension
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	122.00	\$107.71	\$13,140.62	\$128.00	\$15,616.00
	2010	Furnish and install 30"	Ellicai i cct	122.00	Ψ107.71	ψ13,140.02	ψ120.00	\$13,010.00
		RCP Class III storm						
		sewer; complete as						
	2022	specified	Linear Feet	29.00	\$134.06	\$3,887.74	\$144.00	\$4,176.00
	2022	Furnish and install 36"	Ellicai i cct	27.00	\$154.00	ψ3,007.7 ±	\$144.00	ψ+,170.00
		RCP Class III storm						
		sewer; complete as						
	2025	specified	Linear Feet	358.00	\$151.81	\$54,347.98	\$167.00	\$59,786.00
	2023	Furnish and install 48"	Linear Feet	338.00	\$131.01	φυ4,υ47.90	\$107.00	\$59,760.00
		RCP Class III storm						
		sewer; complete as						
	2031	specified	Linear Feet	1,026.00	\$206.36	\$211,725.36	\$191.00	\$195,966.00
	2001	Furnish and install 14" x	Efficial Feet	1,020.00	Ψ200.50	Ψ211,720.00	Ψ171.00	Ψ170,700.00
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	304.00	\$115.36	\$35,069.44	\$136.00	\$41,344.00
	2010	Furnish and install 19" x	Efficial Feet	501.00	ψ110.00	φοσ,σσσ.11	ψ100.00	ψ11,011.00
		30" HERCP Class III						
		storm sewer; complete as						
	2047	specified	Linear Feet	344.00	\$121.69	\$41,861.36	\$147.00	\$50,568.00
	2017	Furnish and install 4' x 6'	Efficial Feet	011.00	Ψ121.07	ψ11,001.50	Ψ117.00	φου,ουσ.ου
		box culvert storm sewer;						
	2072	complete as specified	Linear Feet	1,449.00	\$800.75	\$1,160,286.75	\$905.00	\$1,311,345.00
	20,2	Furnish and install 4'	Emical Teet	1,113.00	4000.70	\$1,100,200.70	ψ, σσ.σσ	\$1,011,010.00
		diameter manhole riser						
		on 4' x 6' box culvert;						
	2113	complete as specified	Vertical Feet	13.00	\$1,093.83	\$14,219.79	\$650.00	\$8,450.00
		Furnish and install 24"	. crucui i cet	15.50	\$2,070.00	Ψ±1/=17.77	4300.00	\$0,100.00
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	2.00	\$3,284.12	\$6,568.24	\$1,150.00	\$2,300.00
		Furnish and install 36"			7-7	40,000.	4-,3100	+=,=30.00
		RCP Class III apron						
		endwall with joint ties;						
	2147	complete as specified	Each	2.00	\$5,227.72	\$10,455.44	\$1,900.00	\$3,800.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
· · · · · · · · · · · · · · · · · · ·								
3id Opening: 08/28/2023 0	2:00 PM CDT							
				1				
					Veit & Compa	any Inc	Carl Bowers & Sons	Const Co. Inc
					- th a compt	,	Carr Bowers & sons	constr coty inci
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem coue	Furnish and install 48"	201111	Quantity	Chit Trice	Extension	Chit Thee	Extension
		RCP Class III apron						
		endwall with joint ties;						
	2149	-	Each	5.00	\$6,688.25	\$33,441.25	\$5,400.00	\$27,000.00
	2149	complete as specified Furnish and install 14" x	EdCII	5.00	\$0,088.23	\$33,441.23	\$3,400.00	\$27,000.0
		23" RCP Class III apron						
		-						
	2154	endwall with joint ties;	г	20.00	#2.404.11	#40 <02 20	#1 150 00	# 22 000 0
	2154	complete as specified Furnish and install 19" x	Each	20.00	\$2,434.11	\$48,682.20	\$1,150.00	\$23,000.0
		30" RCP Class III apron						
		endwall with joint ties;						
	2155	complete as specified	Each	20.00	\$2,831.88	\$56,637.60	\$1,300.00	\$26,000.0
		Furnish and install 4' x 6'						
		box culvert end section						
		with joint ties; complete						
	2171	as specified	Each	1.00	\$11,174.55	\$11,174.55	\$9,600.00	\$9,600.00
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	11.00	\$866.32	\$9,529.52	\$950.00	\$10,450.0
		Furnish and install						
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	9.00	\$1,515.72	\$13,641.48	\$1,620.00	\$14,580.0
		Furnish and install						
		standard storm sewer						
		manhole (8' x 8' box);						
	2211	complete as specified	Vertical Feet	10.00	\$2,331.25	\$23,312.50	\$2,500.00	\$25,000.00
		Furnish and install			. ,		. ,	. ,
		standard storm sewer						
		inlet manhole (6'						
		diameter); complete as						
	2215	specified	Vertical Feet	13.00	\$1,237.60	\$16,088.80	\$950.00	\$12,350.00
	2213	Furnish and install storm	, crucar r cet	15.00	Ψ1,237.00	ψ10,000.00	ψ250.00	ψ12,000.00
		sewer outlet structure;						
		Rural II Basin; complete						
	2226	-	Each	1.00	\$44,089.20	\$44,089.20	\$150,000.00	\$150,000.0
	2220	as specified Furnish and install Type 1	EdCII	1.00	₽ 11 ,007.20	₽ 44 ,∪07.20	\$150,000.00	\$150,000.00
	2226	inlet; complete as	г	1.00	dE 10E 22	ΦE 10E 22	#0 F00 00	40.500.00
	2236	specified	Each	1.00	\$5,195.33	\$5,195.33	\$3,500.00	\$3,500.0

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
,	, -							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
514 opening. 00/20/2020 0	1							
	_				Veit & Cor	nnany Inc	Carl Bowers & Son	as Const. Co. Inc.
					ven & con	iipaiiy, iiic.	Cari bowers & son	is const. co., mc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Furnish and install	COLIVI	Qualitity	OmtTite	Extension	OmtTite	Extension
		WDOT Inlet Median 1						
	2240	grate; complete as	T. d.	2.00	#2.677.20	¢7.254.40	#2 F00 00	¢7,000,00
	2240	specified Furnish and install	Each	2.00	\$3,677.20	\$7,354.40	\$3,500.00	\$7,000.00
		WDOT Inlet Median 2						
	22.11	grate; complete as		2.00	0.1.0.00	440 505 60	4= 000 00	44= 000 00
	2241	specified	Each	3.00	\$6,169.23	\$18,507.69	\$5,000.00	\$15,000.00
		Furnish; install; maintain;						
		and remove Type A inlet						
		protection; complete as					****	
	2500	specified	Each	7.00	\$20.76	\$145.32	\$150.00	\$1,050.00
		Furnish; install; maintain;						
		and remove Type D inlet						
		protection; complete as						
	2506	specified	Each	4.00	\$145.31	\$581.24	\$200.00	\$800.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$1,814.70	\$7,258.80	\$0.01	\$0.04
		Furnish; install; maintain;						
		and remove silt fence;						
	2514	complete as specified	Linear Feet	9,050.00	\$2.15	\$19,457.50	\$2.00	\$18,100.00
		Furnish; install; maintain;						
		and remove ditch check;						
	2522	complete as specified	Each	74.00	\$88.26	\$6,531.24	\$150.00	\$11,100.00
		Furnish and install rock						
		dam; complete as						
	2527	specified	Linear Feet	275.00	\$75.34	\$20,718.50	\$10.00	\$2,750.00
		Install salvaged topsoil 6"						
		depth; complete as						
	2603	specified	Lump Sum	1.00	\$381,281.33	\$381,281.33	\$567,675.90	\$567,675.90
		Furnish and install native						
		seeding; floodplain mix;						
	2610	complete as specified	Square Yards	114,000.00	\$0.81	\$92,340.00	\$0.88	\$100,320.00
		Furnish and install native						
		seeding; mesic mix;						
	2612	complete as specified	Square Yards	103,000.00	\$0.72	\$74,160.00	\$0.88	\$90,640.00
		Furnish and install turf						
		grass; complete as						
	2620	specified	Square Yards	7,500.00	\$0.82	\$6,150.00	\$1.20	\$9,000.00

Contract 23-16 - Sawyer Cro	eek Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)				
Owner: Oshkosh WI, City			-					
Solicitor: Oshkosh WI, City								
,	1							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
					Veit & Con	nnany. Inc.	Carl Bowers & Son	ns Const. Co., Inc.
					7 617 62 603	pully, liter	Carr Bowers & So.	is consu con mer
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Jetton Titte	Trem coue	Furnish and install no-		Quantity	0.111.111.0	Extension	O.M. T. T. T.	Extension
		mow fescue; complete as						
	2622	specified	Square Yards	150,000.00	\$0.69	\$103,500.00	\$0.83	\$124,500.0
	2022	Furnish and install	Square Tarus	130,000.00	φ0.09	\$105,500.00	ψ0.05	\$124,500.0
		annual cover crop;						
	2624	complete as specified	Square Yards	680,000.00	\$0.12	\$81,600.00	\$0.10	\$68,000.0
	2024	Furnish and install Class	Square Tarus	000,000.00	\$0.12	\$61,000.00	\$0.10	\$00,000.0
		II; Type B erosion control						
		mat; complete as						
	2624	-	C 1 -	25 000 00	#1 O4	#C7 000 00	#2.0F	ф 71 750 0
	2634	specified Furnish and install turf	Square Yards	35,000.00	\$1.94	\$67,900.00	\$2.05	\$71,750.0
		reinforcement mat						
		system; complete as			****			
	2638	specified	Square Yards	3,930.00	\$19.91	\$78,246.30	\$15.00	\$58,950.0
		Furnish and install						
		medium rip-rap with						
		filter fabric; complete as						
	2648	specified	Square Yards	350.00	\$80.05	\$28,017.50	\$55.00	\$19,250.0
		Install articulated						
		concrete block mat						
		(ACBM) revetment						
		system; complete as						
	2659	specified	Square Yards	2,100.00	\$220.65	\$463,365.00	\$120.17	\$252,357.0
		Remove 30" and smaller						
		storm sewer; complete as						
	2804	specified	Linear Feet	550.00	\$21.84	\$12,012.00	\$30.00	\$16,500.0
		Remove; salvage; and						
		relocate existing endwall;						
	2860	complete as specified	Each	2.00	\$3,707.84	\$7,415.68	\$250.00	\$500.0
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	20.00	\$1,345.43	\$26,908.60	\$800.00	\$16,000.0
		Clear and grub; Zone A;						
	2915	complete as specified	Lump Sum	1.00	\$8,341.64	\$8,341.64	\$7,750.00	\$7,750.0
		Clear and grub; Zone B;	-					
	2916	complete as specified	Lump Sum	1.00	\$73,998.43	\$73,998.43	\$68,750.00	\$68,750.0
		Construct clay liner;	•			·	·	· · · · · · · · · · · · · · · · · · ·
	2934	complete as specified	Lump Sum	1.00	\$46,334.01	\$46,334.01	\$144,063.85	\$144,063.8
		General excavation; Rural	•			·	·	· · · · · · · · · · · · · · · · · · ·
		II Detention Basin;						
	2935	complete as specified	Lump Sum	1.00	\$5,852,915.00	\$5,852,915.00	\$4,593,336.86	\$4,593,336.8

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
,	,							
Bid Opening: 08/28/2023 0	2:00 PM CDT							
					Veit & Compa	any Inc	Carl Bowers & Sons	Const Co. Inc
					ven & comp	any, me.	Carr bowers & sons	Colist. Co., Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	General excavation; Clark-	COLIVI	Qualitity	Office	Extension	Chit i lice	Extension
		Hill Detention Basin;						
	2026		I C	1.00	¢421 F01 F0	#421 F01 F0	¢451 112 01	¢4E1 112 0
	2936	complete as specified Furnish and install 8"	Lump Sum	1.00	\$431,581.78	\$431,581.78	\$451,113.81	\$451,113.81
	2020	sanitary sewer (new);	T. F.	1.667.00	#105.50	#220 245 04	#200.00	#222 400 0
	3030	complete as specified Furnish and install 12"	Linear Feet	1,667.00	\$137.52	\$229,245.84	\$200.00	\$333,400.00
	2024	sanitary sewer (new);		4 020 00	400.70	4154.002.40	#440.00	4944 900 0
	3034	complete as specified Furnish and install 15"	Linear Feet	1,920.00	\$80.72	\$154,982.40	\$110.00	\$211,200.00
	2026	sanitary sewer (new);		4.407.00	#244.00	**********	4277 00	* 400 005 0
	3036	complete as specified	Linear Feet	1,487.00	\$241.30	\$358,813.10	\$275.00	\$408,925.0
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	6.19	\$729.53	\$4,515.79	\$600.00	\$3,714.00
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	270.00	\$409.65	\$110,605.50	\$460.00	\$124,200.0
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	17.00	\$562.22	\$9,557.74	\$600.00	\$10,200.0
		Furnish and install 8" x 4"						
		sanitary sewer factory						
		wyes or tees; complete as						
	3200	specified	Each	6.00	\$289.95	\$1,739.70	\$200.00	\$1,200.0
		Furnish and install 15" x						
		4" sanitary sewer factory						
		wyes or tees; complete as						
	3206	specified	Each	6.00	\$867.94	\$5,207.64	\$250.00	\$1,500.0
		Furnish and install 15" x						
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3216	specified	Each	1.00	\$1,178.46	\$1,178.46	\$300.00	\$300.0
		Furnish and install 4"						
		sanitary sewer laterals						
		(new); complete as						
	3230	specified	Linear Feet	386.00	\$166.20	\$64,153.20	\$105.00	\$40,530.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ıral II Detention Basin - Cor	nstruction (#860895	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
<u> </u>	1							
Bid Opening: 08/28/2023 02	2:00 PM CDT							
514 Opening, 00/20/2020 0	100 1101 00 1							
					Veit & Com	nany Inc	Carl Bowers & Son	s Const Co. Inc
					ven a com	ipuny, me.	can bowers a son	is const. co., me.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	32.00	\$118.86	\$3,803.52	\$110.00	\$3,520.00
		Furnish and install		0_100	422000	40,0000	, , , , , , , , , , , , , , , , , , ,	40/0-0101
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	13.00	\$64.51	\$838.63	\$50.00	\$650.00
	3230	Furnish and install	EdCII	13.00	\$64.51	ф636.03	\$50.00	Φ030.00
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	1.00	\$7,786.26	\$7,786.26	\$2,000.00	\$2,000.00
		Core into existing						
		manhole; complete as						
	3332	specified	Each	1.00	\$4,665.79	\$4,665.79	\$2,000.00	\$2,000.00
		Furnish and install 12"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3406	specified	Linear Feet	56.00	\$276.87	\$15,504.72	\$250.00	\$14,000.00
		Furnish and install 24"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3412	specified	Linear Feet	33.00	\$232.93	\$7,686.69	\$300.00	\$9,900.00
		Closed circuit televising;			·	• •	·	·,
	3700	complete as specified	Linear Feet	5,074.00	\$1.70	\$8,625.80	\$2.00	\$10,148.00
		Furnish 8" sanitary sewer		2,01 2100	*****	40,020100	7-111	4-0/
		air pressure test;						
	3935	complete as specified	Each	5.00	\$177.60	\$888.00	\$400.00	\$2,000.00
	3,33	Furnish 12" sanitary	Lacii	3.00	\$177.00	\$000.00	\$400.00	Ψ2,000.00
		sewer air pressure test;						
	2020	•	Earl	E 00	¢260.00	Ø1 24E 4E	¢400.00	¢0.000.00
	3939	complete as specified Furnish 15" sanitary	Each	5.00	\$269.09	\$1,345.45	\$400.00	\$2,000.00
		sewer air pressure test;						
	3941	complete as specified	Each	5.00	\$306.76	\$1,533.80	\$400.00	\$2,000.00
		Furnish and install new 6"						
		ductile iron water main						
		with polywrap; complete						
	4020	as specified	Linear Feet	116.00	\$73.62	\$8,539.92	\$105.00	\$12,180.00

Contract 23-16 - Sawyer Cr	eek Watershed Ru	ral II Detention Basin - Cor	struction (#86089	57)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
,	,							
Bid Opening: 08/28/2023 0	2:00 PM CDT							
					Veit & Compa	pany. Inc.	Carl Bowers & Sons	Const. Co., Inc.
					Ten de comp	ally, liter	Curr Bowers & Sons	Const. Coty Inc.
Section Title	Itam Codo	Itam Description	HefM	Overstites	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Item Description Furnish and install new	UofM	Quantity	Unit Frice	Extension	Onit Frice	Extension
		10" ductile iron water						
	1001	main with polywrap;	· · · · · ·	4.005.00	0400.00	440400===	440.00	4044 550 0
	4024	complete as specified	Linear Feet	1,925.00	\$100.83	\$194,097.75	\$110.00	\$211,750.00
		Furnish and install 1"						
		water service (new);			****		to- 00	
	4042	complete as specified	Linear Feet	437.00	\$110.86	\$48,445.82	\$95.00	\$41,515.00
		Furnish and install 2"						
		water service (new);			****			
	4046	complete as specified	Linear Feet	11.00	\$211.15	\$2,322.65	\$107.00	\$1,177.00
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	12.00	\$800.52	\$9,606.24	\$700.00	\$8,400.00
		Furnish and install 2"						
		corporation and stop box;						
	4053	complete as specified	Each	1.00	\$2,522.10	\$2,522.10	\$1,600.00	\$1,600.00
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	7.00	\$2,665.02	\$18,655.14	\$1,800.00	\$12,600.00
		Furnish and install						
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	1.00	\$4,258.94	\$4,258.94	\$2,500.00	\$2,500.00
		Furnish and install 10" x						
		6" water main tee;						
	4119	complete as specified	Each	4.00	\$1,493.04	\$5,972.16	\$1,200.00	\$4,800.00
		Furnish and install 10" x						
		10" water main tee;						
	4121	complete as specified	Each	1.00	\$1,714.81	\$1,714.81	\$1,400.00	\$1,400.00
		Furnish and install 10"						
		water main plug;						
	4310	complete as specified	Each	2.00	\$406.34	\$812.68	\$300.00	\$600.00
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$2,183.97	\$8,735.88	\$2,200.00	\$8,800.00
		Furnish and install 10"						
		water main gate valve;						
	4403	complete as specified	Each	5.00	\$4,117.53	\$20,587.65	\$4,000.00	\$20,000.00

Contract 23-16 - Sawyer Creek	Watershed Ru	ral II Detention Basin - Cor	struction (#860895	57)				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o	f							
Bid Opening: 08/28/2023 02:00	0 PM CDT							
					Veit & Con	npany, Inc.	Carl Bowers & So	ns Const. Co., Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install valve						
		box replacement;						
	4490	complete as specified	Each	7.00	\$746.76	\$5,227.32	\$600.00	\$4,200.00
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	4.00	\$6,296.90	\$25,187.60	\$6,000.00	\$24,000.00
		Relocate existing hydrant;						
	4501	complete as specified	Each	7.00	\$1,234.50	\$8,641.50	\$3,000.00	\$21,000.00
		Furnish and install 6"						
		water main casing pipe;						
	4716	complete as specified	Linear Feet	56.00	\$152.68	\$8,550.08	\$250.00	\$14,000.00
Section 2: Alternate 1 (Award	led)	Comment on a Countle on				\$175,200.00		\$430,000.00
		Compaction of southern 20 acres of Clark-Hill Fill						
	2056.1	Site; complete as		1.00	#1 55 2 00 00	#155 200 00	#420 000 00	#420,000,00
Section 3: Alternate 2 (Award	2956-1	specified	Lump Sum	1.00	\$175,200.00	\$175,200.00 \$525,500.00	\$430,000.00	\$430,000.00 \$1,290,000.00
Section 3: Alternate 2 (Award	iea)	Compaction of northern				\$525,500.00		\$1,290,000.00
		60 acres of Clark-Hill Fill						
		Site; complete as						
	2958-2	specified	Lump Sum	1.00	\$525,500.00	\$525,500.00	\$1,290,000.00	\$1,290,000.00
Section 4: Alternate 3 (Award		specified	Lump Jum	1.00	\$525,500.00	\$148,000.00	\$1,270,000.00	\$1,290,000.00
occion 4. Antemate 5 (Award	icu,	Temporary paving of		+		φ140,000.00		\$11 <i>3,</i> 000.00
		Clairville Road; complete						
	2960-3	as specified	Lump Sum	1.00	\$148,000.00	\$148,000.00	\$115,000.00	\$115,000.00
Bid Total:		I	r	2.50	4-25,500,00	\$13,333,822.89	4,000.00	\$13,731,495.66

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	57)		
Owner: Oshkosh WI, City o			, , , , , , , , , , , , , , , , , , , ,	i l		
Solicitor: Oshkosh WI, City						
Solicitor, Conkoon 111, City	1					
Bid Opening: 08/28/2023 02	2-00 PM CDT					
Did Opening. 00/20/2025 02				1		
				+	Iamas Patarsan Sans	Inc Utility Division
				+	janies reterson sons,	inc Othrty Division
Section Title	Item Code	Item Description	UofM	Ouantitu	Unit Price	Extension
Section 11the Section 1: Base Bid	Item Code	item Description	COIM	Quantity	Unit Frice	\$16,770,044.76
Section 1: base bid		Mobilization, somelate so		1		\$10,//0,044./0
	1050	Mobilization; complete as	I C	1.00	¢755 000 00	¢755 000 00
	1050	specified Removing pavement;	Lump Sum	1.00	\$755,000.00	\$755,000.00
	1100		C	0.420.00	#1.44	#12 124 00
	1100	complete as specified Removing curb and	Square Yards	8,420.00	\$1.44	\$12,124.80
		gutter; complete as				
	1110	specified	I in a ser Free!	200.00	# 2 0.00	¢4,000,00
	1110	Removing concrete and	Linear Feet	200.00	\$20.00	\$4,000.00
		asphalt sidewalk and				
		-				
	1120	driveway; complete as	Carrage Fred	4.840.00	#2.00	#0.600.00
	1120	specified Unclassified excavation;	Square Feet	4,840.00	\$2.00	\$9,680.00
	1200	· ·	Culsia Vanda	0.620.00	¢0.07	ФОТ 2E2 40
	1200	complete as specified Ground stabilization	Cubic Yards	9,620.00	\$9.07	\$87,253.40
		fabric; complete as				
	1220	•	Carrana Vanda	6.060.00	¢2 =0	¢1E 1E0 00
	1230	specified Adjust manholes and	Square Yards	6,060.00	\$2.50	\$15,150.00
		inlets; complete as				
	1360	-	Each	34.00	\$881.00	\$29,954.00
	1360	specified Restore gravel	Each	34.00	\$001.00	\$29,934.00
		driveway/apron;				
	1372	complete as specified	Square Yards	110.00	\$20.00	\$2,200.00
	1372	30" curb and gutter; 8";	Square raius	110.00	\$20.00	\$2,200.00
	1444	complete as specified	Linear Feet	100.00	\$95.00	\$9,500.00
	1777	36" mountable curb and	Linear reet	100.00	\$95.00	φ2,300.00
		gutter; 8"; complete as				
	1451	specified	Linear Feet	100.00	\$105.00	\$10,500.00
	1451	Locate existing property	Ellical Teet	100.00	ψ105.00	ψ10,500.00
		monuments; complete as				
	1650	specified	Each	16.00	\$40.00	\$640.00
	1030	Replace section corner;	Each	10.00	₽40.00	φ0 1 0.00
	1651	complete as specified	Each	1.00	\$650.00	\$650.00
	1001	Replace existing property	Lucii	1.00	φοσο.οο	φ030.00
		monuments; complete as				
	1652	specified	Each	7.00	\$85.00	\$595.00
	1002	Sawing existing	Lucii	7.00	φοσ.σο	φ393.00
		pavement; complete as		1		
	1700	specified	Linear Feet	400.00	\$2.35	\$940.00
	1/00	specified	Linear Feet	400.00	\$2.35	\$940.00

Contract 23-16 - Sawyer Cree	k Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)		
Owner: Oshkosh WI, City of	f					
Solicitor: Oshkosh WI, City	of					
Bid Opening: 08/28/2023 02:0	00 PM CDT					
3 · · · · · · · · · · · · · · · · · · ·						
	+				James Peterson Sons,	Inc Utility Division
	1				,	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Base aggregate dense;				
		3/4"; complete as				
	1800	specified	Tons	710.00	\$24.61	\$17,473.10
		Base aggregate dense; 1-			· · · · · · · · · · · · · · · · · · ·	. ,
		1/4"; complete as				
	1801	specified	Tons	8,600.00	\$17.46	\$150,156.00
_		Base aggregate dense; 3";		.,	,	,,
	1802	complete as specified	Tons	4,260.00	\$17.46	\$74,379.60
		Tack coat; complete as		· ·	<u> </u>	. ,
	1900	specified	Gallons	250.00	\$2.80	\$700.00
		HMA Pavement LT;				·
	1901	complete as specified	Tons	280.00	\$156.00	\$43,680.00
		HMA Pavement MT;				. ,
	1902	complete as specified	Tons	2,670.00	\$75.30	\$201,051.00
		Asphalt flume; complete		,		. ,
	1935	as specified	Square Yards	30.00	\$58.00	\$1,740.00
		Prepare foundation for	-1		,	, ,
		asphaltic paving;				
	1960	complete as specified	Lump Sum	1.00	\$20,000.00	\$20,000.00
		Pavement markings;	<u> </u>		1 1/11111	, ,,
		epoxy; 4" (white);				
	1974	complete as specified	Linear Feet	6,000.00	\$0.75	\$4,500.00
_		Pavement markings;		.,	***	, ,
		epoxy; 4" (yellow);				
	1975	complete as specified	Linear Feet	2,500.00	\$0.75	\$1,875.00
		Pavement markings; stop-		· ·		. ,
		line epoxy; 18" (white);				
	1978	complete as specified	Linear Feet	17.00	\$14.00	\$238.00
		Furnish and install woven			<u> </u>	
		wire fencing; complete as				
	1990	specified	Linear Feet	6,840.00	\$5.25	\$35,910.00
		Furnish and install high				·
		tensile fencing; complete				
	1991	as specified	Linear Feet	75.00	\$6.00	\$450.00
		Furnish and install				
	1	double leaf gate;				
	1992	complete as specified	Each	2.00	\$2,600.00	\$5,200.00
		Furnish and install 12"			·	
		RCP Class III storm				
	1	sewer; complete as				
	2004	specified	Linear Feet	34.00	\$126.36	\$4,296.24

Contract 23-16 - Sawyer Cree	ek Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)		
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City	of					
Bid Opening: 08/28/2023 02:	00 PM CDT					
					James Peterson Sons,	Inc Utility Division
						,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install 24"				
		RCP Class III storm				
		sewer; complete as				
	2016	specified	Linear Feet	122.00	\$135.32	\$16,509.04
		Furnish and install 30"				
		RCP Class III storm				
		sewer; complete as				
	2022	specified	Linear Feet	29.00	\$210.24	\$6,096.96
		Furnish and install 36"				
		RCP Class III storm				
		sewer; complete as				
	2025	specified	Linear Feet	358.00	\$243.89	\$87,312.62
		Furnish and install 48"				
		RCP Class III storm				
		sewer; complete as				
	2031	specified	Linear Feet	1,026.00	\$300.44	\$308,251.44
		Furnish and install 14" x				
		23" HERCP Class III				
		storm sewer; complete as				
	2045	specified	Linear Feet	304.00	\$126.51	\$38,459.04
		Furnish and install 19" x				
		30" HERCP Class III				
		storm sewer; complete as				
	2047	specified	Linear Feet	344.00	\$135.44	\$46,591.36
		Furnish and install 4' x 6'				
		box culvert storm sewer;				
	2072	complete as specified Furnish and install 4'	Linear Feet	1,449.00	\$1,097.64	\$1,590,480.36
		diameter manhole riser				
	2112	on 4' x 6' box culvert;		12.00	Φ00.C 44	#11 500 50
	2113	complete as specified Furnish and install 24"	Vertical Feet	13.00	\$906.44	\$11,783.72
		RCP Class III apron				
		endwall with joint ties;				
	2144	· ·	Eash	2.00	¢2 000 40	¢5 (16 90
	2144	complete as specified Furnish and install 36"	Each	2.00	\$2,808.40	\$5,616.80
		RCP Class III apron				
		endwall with joint ties;				
	2147	complete as specified	Each	2.00	\$4,600.20	\$9,200.40
	414/	complete as specified	LaCII	2.00	Φ4,000.20	₽7,∠00.40

Contract 23-16 - Sawyer Cre	ek Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)		
Owner: Oshkosh WI, City o	of					
Solicitor: Oshkosh WI, City						
, ,						
Bid Opening: 08/28/2023 02	:00 PM CDT					
	1					
					James Peterson Sons, I	nc Utility Division
					junies i eterson sons, i	ner cumy 211131011
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	Hem coue	Furnish and install 48"	C01111	Quantity	Cilitatice	Extension
		RCP Class III apron				
		endwall with joint ties;				
	2149	complete as specified	Each	5.00	\$6,693.20	\$33,466.00
	2149	Furnish and install 14" x	Eacn	5.00	\$0,093.20	\$33,400.00
		23" RCP Class III apron				
		*				
	2154	endwall with joint ties;	г	20.00	#1 F0F 40	#24 700 00
	2154	complete as specified Furnish and install 19" x	Each	20.00	\$1,735.40	\$34,708.00
		30" RCP Class III apron				
		endwall with joint ties;				
	2155	complete as specified	Each	20.00	\$2,261.40	\$45,228.00
		Furnish and install 4' x 6'				
		box culvert end section				
		with joint ties; complete				
	2171	as specified	Each	1.00	\$56,986.53	\$56,986.53
		Furnish and install				
		standard storm sewer				
		manhole (6' diameter);				
	2203	complete as specified	Vertical Feet	11.00	\$1,357.88	\$14,936.68
		Furnish and install				
		standard storm sewer				
		manhole (8' diameter);				
	2205	complete as specified	Vertical Feet	9.00	\$2,171.59	\$19,544.31
		Furnish and install				
		standard storm sewer				
		manhole (8' x 8' box);				
	2211	complete as specified	Vertical Feet	10.00	\$4,149.32	\$41,493.20
		Furnish and install				
		standard storm sewer				
		inlet manhole (6'				
		diameter); complete as				
	2215	specified	Vertical Feet	13.00	\$1,637.01	\$21,281.13
		Furnish and install storm			·	·
		sewer outlet structure;				
		Rural II Basin; complete				
	2226	as specified	Each	1.00	\$196,680.00	\$196,680.00
		Furnish and install Type 1			. ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		inlet; complete as				
	2236	specified	Each	1.00	\$3,992.67	\$3,992.67
		1 * * * * *		1.00	\$5,772.07	\$5,7,7 2. 07

Contract 23-16 - Sawyer Cree	k Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)		
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o						
, , , ,						
Bid Opening: 08/28/2023 02:0	0 PM CDT					
Dia Opening. 00/20/2023 02:0	T TWICE I					
					Iamas Patarson Sons	Inc Utility Division
					james i eterson sons,	inc Othrty Division
	+					
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	item code	Furnish and install	COLIVI	Quantity	ChitTite	Extension
		WDOT Inlet Median 1				
		grate; complete as				
	2240		Each	2.00	\$3,135.32	\$6,270.64
	2240	specified Furnish and install	Each	2.00	\$3,133.32	\$0,270.04
		WDOT Inlet Median 2				
		grate; complete as				
	2241		E. J.	3.00	¢4.057.70	¢14 F70 10
	2241	specified Furnish; install; maintain;	Each	3.00	\$4,856.73	\$14,570.19
		and remove Type A inlet				
		* *				
	2500	protection; complete as specified	E. J.	7.00	¢125.00	¢045.00
	2500	Furnish; install; maintain;	Each	7.00	\$135.00	\$945.00
		and remove Type D inlet				
	2506	protection; complete as	Each	4.00	\$135.00	\$540.00
	2306	specified Furnish; install; maintain;	Each	4.00	\$133.00	\$340.00
		and remove stone				
		tracking pad; complete as				
	2512	specified	Each	4.00	\$4,000.00	\$16,000.00
	2512	Furnish; install; maintain;	Each	4.00	\$4,000.00	\$10,000.00
		and remove silt fence;				
	2514	1	Linear Feet	9,050.00	\$2.00	¢10 100 00
	2514	complete as specified Furnish; install; maintain;	Linear reet	9,030.00	\$2.00	\$18,100.00
		and remove ditch check;				
	2522	,	Eash	74.00	\$82.00	¢6,068,00
	2322	complete as specified Furnish and install rock	Each	74.00	Ф02.00	\$6,068.00
		dam; complete as				
	2527	specified	Linear Feet	275.00	\$70.00	\$19,250.00
	2327	Install salvaged topsoil 6"	Linear reet	273.00	\$70.00	\$19,230.00
		depth; complete as				
	2603	specified	Lump Sum	1.00	\$690,000.00	\$690,000.00
	2603	Furnish and install native	Lump Jum	1.00	\$090,000.00	\$670,000.00
		seeding; floodplain mix;				
	2610	complete as specified	Sauara Vanda	114 000 00	\$0.75	\$85,500.00
	2010	Furnish and install native	Square Yards	114,000.00	⊅U./O	,000,000.00
		seeding; mesic mix;				
	2612	_	Square Vande	103 000 00	\$0.67	\$69,010.00
	2012	complete as specified Furnish and install turf	Square Yards	103,000.00	⊅U.07	,010.00
		grass; complete as				
	2620	specified	Square Yards	7,500.00	\$0.76	\$5,700.00
	2020	specified	oquare rarus	7,300.00	Φ0./6	\$5,700.00

Contract 23-16 - Sawyer Creek	Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)		
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	f					
, ,						
Bid Opening: 08/28/2023 02:00	PM CDT					
· · · · ·						
					Iames Peterson Sons.	Inc Utility Division
					,,	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install no-				
		mow fescue; complete as				
	2622	specified	Square Yards	150,000.00	\$0.64	\$96,000.00
		Furnish and install	1	,	·	,
		annual cover crop;				
	2624	complete as specified	Square Yards	680,000.00	\$0.11	\$74,800.00
		Furnish and install Class	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		***	, , , , , , , , , , , , , , , , , , , ,
		II; Type B erosion control				
		mat; complete as				
	2634	specified	Square Yards	35,000.00	\$1.80	\$63,000.00
		Furnish and install turf	1	,		,
		reinforcement mat				
		system; complete as				
	2638	specified	Square Yards	3,930.00	\$18.50	\$72,705.00
		Furnish and install	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	-,	,	, , , , , , , , , , , , , , , , , , , ,
		medium rip-rap with				
		filter fabric; complete as				
	2648	specified	Square Yards	350.00	\$85.00	\$29,750.00
		Install articulated	- 1		40000	427). 0 0100
		concrete block mat				
		(ACBM) revetment				
		system; complete as				
	2659	specified	Square Yards	2,100.00	\$205.00	\$430,500.00
		Remove 30" and smaller	1	,	·	. ,
		storm sewer; complete as				
	2804	specified	Linear Feet	550.00	\$18.00	\$9,900.00
		Remove; salvage; and				. ,
		relocate existing endwall;				
	2860	complete as specified	Each	2.00	\$780.21	\$1,560.42
		Storm sewer utility line				
		opening (ULO); complete				
	2914	as specified	Each	20.00	\$750.00	\$15,000.00
		Clear and grub; Zone A;				
	2915	complete as specified	Lump Sum	1.00	\$35,000.00	\$35,000.00
		Clear and grub; Zone B;	1		. ,	. ,
	2916	complete as specified	Lump Sum	1.00	\$45,000.00	\$45,000.00
		Construct clay liner;			. ,	. ,
	2934	complete as specified	Lump Sum	1.00	\$90,000.00	\$90,000.00
		General excavation; Rural			. ,	. ,
		II Detention Basin;				
	2935	complete as specified	Lump Sum	1.00	\$7,393,881.60	\$7,393,881.60

Contract 23-16 - Sawyer Cree	ek Watershed Ru	ral II Detention Basin - Co	nstruction (#860895	7)		
Owner: Oshkosh WI, City o						
Solicitor: Oshkosh WI, City						
, , ,						
Bid Opening: 08/28/2023 02:	00 PM CDT					
514 opening, 00/20/2020 02/	1 101					
					James Peterson Sons,	Inc Utility Division
					Junies I etersori soris,	inc. Curry Division
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	Trem coue	General excavation; Clark-	001111	Quantity	0	2.XXXXXX
		Hill Detention Basin;				
	2936	complete as specified	Lump Sum	1.00	\$814,207.20	\$814,207.20
	2750	Furnish and install 8"	Eurip Juni	1.00	ψ014,207.20	ψ014,207.20
		sanitary sewer (new);				
	3030	complete as specified	Linear Feet	1,667.00	\$241.83	\$403,130.61
	3030	Furnish and install 12"	Linear reet	1,007.00	\$241.03	φ403,130.01
		sanitary sewer (new);				
	3034	complete as specified	Linear Feet	1,920.00	\$332.36	\$638,131.20
	3034	Furnish and install 15"	Linear reet	1,920.00	\$552.50	\$030,131.20
		sanitary sewer (new);				
	3036	complete as specified	Linear Feet	1,487.00	\$464.81	\$691,172.47
	3036	Furnish and install 8"	Linear reet	1,467.00	\$404.01	\$091,172.47
		sanitary sewer drop;				
	3060		Vertical Feet	6.10	¢1 000 64	¢6,906,77
	3000	complete as specified Furnish and install	verticai reet	6.19	\$1,099.64	\$6,806.77
		standard sanitary sewer				
		manhole (4' diameter);				
	3100	complete as specified	Vertical Feet	270.00	\$407.66	¢110.069.20
	3100	Furnish and install	vertical Feet	270.00	\$407.66	\$110,068.20
		sanitary sewer external				
		-				
	2114	manhole chimney seal;	T. J.	17.00	#200.00	#C 702.00
	3114	complete as specified Furnish and install 8" x 4"	Each	17.00	\$399.00	\$6,783.00
		sanitary sewer factory				
	2200	wyes or tees; complete as	г. 1	6.00	#150.00	#0.40. 2 0
	3200	specified Furnish and install 15" x	Each	6.00	\$158.20	\$949.20
		4" sanitary sewer factory				
		wyes or tees; complete as				
	3206	specified	Each	6.00	\$767.20	\$4,603.20
		Furnish and install 15" x				
		6" sanitary sewer factory				
		wyes or tees; complete as				*****
	3216	specified	Each	1.00	\$984.20	\$984.20
		Furnish and install 4"				
		sanitary sewer laterals				
		(new); complete as				
	3230	specified	Linear Feet	386.00	\$195.56	\$75,486.16

Contract 23-16 - Sawyer Cree	k Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	7)		
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o						
Solicion Common 111, City C	1					
Bid Opening: 08/28/2023 02:0	M PM CDT					
Bid Opening. 00/20/2023 02.0	JULIA CDI					
					I D. (L Heller Dirition
					James Peterson Sons,	inc Utility Division
0 4 774	Tr. C. 1	T. D. '.'	11.01	0 111	T. '. D.'	T
Section Title	Item Code	Item Description Furnish and install 6"	UofM	Quantity	Unit Price	Extension
		sanitary sewer laterals				
		(new); complete as				
	3232	specified	Linear Feet	32.00	\$202.04	\$6,465.28
		Furnish and install				
		sanitary sewer lateral				
		marker balls; complete as				
	3236	specified	Each	13.00	\$22.40	\$291.20
		Furnish and install				
		connection to existing 12"				
		sanitary sewer mains;				
	3304	complete as specified	Each	1.00	\$2,407.10	\$2,407.10
	5501	Core into existing	Zuerr	1.00	φ2/107.110	<i>\$2,107.110</i>
		manhole; complete as				
	3332	specified	Each	1.00	\$5,052.00	\$5,052.00
	3332	Furnish and install 12"	EdCII	1.00	\$3,032.00	\$3,032.00
		sanitary sewer open cut				
	2406	casing pipes; complete as	** ** .	=	#404.00	#22 F02 40
	3406	specified Furnish and install 24"	Linear Feet	56.00	\$406.83	\$22,782.48
		sanitary sewer open cut				
		casing pipes; complete as				
	3412	specified	Linear Feet	33.00	\$250.92	\$8,280.36
		Closed circuit televising;				
	3700	complete as specified	Linear Feet	5,074.00	\$1.76	\$8,930.24
		Furnish 8" sanitary sewer				
		air pressure test;				
	3935	complete as specified	Each	5.00	\$165.00	\$825.00
		Furnish 12" sanitary				
		sewer air pressure test;				
	3939	complete as specified	Each	5.00	\$250.00	\$1,250.00
		Furnish 15" sanitary				·
		sewer air pressure test;				
	3941	complete as specified	Each	5.00	\$285.00	\$1,425.00
		Furnish and install new 6"		2.00	+ 200.00	Ţ-,120.00
		ductile iron water main				
		with polywrap; complete				
	4020	as specified	Linear Feet	116.00	\$201.43	\$23,365.88
	4020	as specifica	Linear rect	110.00	Ψ201.45	Ψ20,300.88

Contract 23-16 - Sawyer Cree	k Watershed Ru	ral II Detention Basin - Con	nstruction (#860895	57)		
Owner: Oshkosh WI, City of				T I		
Solicitor: Oshkosh WI, City						
	1					
Bid Opening: 08/28/2023 02:0	00 PM CDT					
Dia Opening. 00/20/2020 02:0	T T T T T T T T T T T T T T T T T T T					
					James Peterson Sons, Ir	nc - Utility Division
					janies i eterson sons, n	ic Curry Division
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Seedon Title	Trem code	Furnish and install new		Quantity	CHAIT THEE	LAURISION
		10" ductile iron water				
		main with polywrap;				
	4024	complete as specified	Linear Feet	1,925.00	\$185.10	\$356,317.50
	1021	Furnish and install 1"	Ellicar rect	1,725.00	ψ105.10	φοσο,σ17.5σ
		water service (new);				
	4042	complete as specified	Linear Feet	437.00	\$160.07	\$69,950.59
	1012	Furnish and install 2"	Ellicar rect	157.00	ψ100.07	φον,νου.σν
		water service (new);				
	4046	complete as specified	Linear Feet	11.00	\$206.25	\$2,268.75
	1010	Furnish and install 1"	Zinear reet	11.00	Ψ200.20	<i>\$2)20011 0</i>
		corporation and stop box;				
	4048	complete as specified	Each	12.00	\$518.00	\$6,216.00
	1010	Furnish and install 2"	Zuci.	12.00	ψ010100	ψο/210.00
		corporation and stop box;				
	4053	complete as specified	Each	1.00	\$1,544.20	\$1,544.20
	1000	Furnish and install	Lucii	1.00	ψ1,011.20	ψ1,011.20
		connections to existing 6"				
		water main; complete as				
	4058	specified	Each	7.00	\$2,682.24	\$18,775.68
	1000	Furnish and install	Zuci.	7.00	<i>\$2,002.21</i>	\$10) <i>i</i> 10.000
		connections to existing				
		10" water main; complete				
	4062	as specified	Each	1.00	\$2,960.70	\$2,960.70
		Furnish and install 10" x			4-/-	4-//
		6" water main tee;				
	4119	complete as specified	Each	4.00	\$1,226.40	\$4,905.60
_		Furnish and install 10" x			, ,	, ,
		10" water main tee;				
	4121	complete as specified	Each	1.00	\$1,422.40	\$1,422.40
		Furnish and install 10"			.,	• /
		water main plug;				
	4310	complete as specified	Each	2.00	\$268.80	\$537.60
	1	Furnish and install 6"				
		water main gate valve;				
	4401	complete as specified	Each	4.00	\$2,415.00	\$9,660.00
		Furnish and install 10"			. ,	1.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		water main gate valve;				
	4403	complete as specified	Each	5.00	\$4,894.40	\$24,472.00

Contract 23-16 - Sawyer Creek	Watershed Ru	ıral II Detention Basin - Co	nstruction (#860895	57)		
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	f					
Bid Opening: 08/28/2023 02:0	0 PM CDT					
					James Peterson Sons,	Inc Utility Division
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install valve				
		box replacement;				
	4490	complete as specified	Each	7.00	\$1,282.55	\$8,977.85
		Furnish and install				
		hydrant; complete as				
	4500	specified	Each	4.00	\$6,420.00	\$25,680.00
		Relocate existing hydrant;				
	4501	complete as specified	Each	7.00	\$1,252.35	\$8,766.45
		Furnish and install 6"				
		water main casing pipe;				
	4716	complete as specified	Linear Feet	56.00	\$297.99	\$16,687.44
Section 2: Alternate 1 (Award	led)					\$456,520.00
		Compaction of southern				
		20 acres of Clark-Hill Fill				
		Site; complete as				
	2956-1	specified	Lump Sum	1.00	\$456,520.00	\$456,520.00
Section 3: Alternate 2 (Award	led)					\$2,238,000.00
		Compaction of northern				
		60 acres of Clark-Hill Fill				
		Site; complete as				
	2958-2	specified	Lump Sum	1.00	\$2,238,000.00	\$2,238,000.00
Section 4: Alternate 3 (Award	led)	T				\$120,000.00
		Temporary paving of				
	2010.2	Clairville Road; complete			4400 000 00	4400 *** **
ni i m	2960-3	as specified	Lump Sum	1.00	\$120,000.00	\$120,000.00
Bid Total:						\$19,584,564.76